AN\ EFMBFEDMESS R, NETRBEARIFROEXER. MEBFHNTERERAFRARBHFOLE LMV AFIERAS, TANEFRORRSRETERNER
HITLENHNEN, BARBTBH. BRITLMEBVERREAAT, LIISHAERER.

<o KEPMRELEDRI Use of environmentally friendly printing paper

NP FamEnT

mm YUEQING XINGFENG ELECTRONICS FACTORY

. IR REHIIEES LI/ XE5E89S
E315. 0577-61382998 0577-6138 2976
fEE. 0577-6138 0984

BUILE: http//www.ygxf.cc

#5858 xfdz@ygxf.cc

2023-5



\\/ 4
NFBZ 357
' XINGFENG ELECTRONICS

=R
= anie B A

THE ELECTROMAGNETIC VALVE
SELECTION GUIDE

AT T

YUEQING XINGFENG ELECTRONICS FACTORY



V|‘|§7® VA==
k { ' ' - gN(;ENG ELEC?I;(ﬁ

S EEBHININSS

Professional sanitary ware solenoid valve leader

B, MILENEE ISEHDE, RINEA,
MESR, ITHERE CPEHIS!

E ‘p W T A HHRE OIS

\e

N

X

_\
A

f;j;_

BREDIER#EERT

RSN Bk o 8] /)N i — R A Bk i 1R 2R 51
B8 & — kL Rk i R R 5

K i Bk i ) 2 5

H2 KBk i i 2 5
ZERT

Bl AL
T

TTTTTT]

L

LUTNEE




yANSIEVA)

Company Profile

FBMAMFBF MILTF20026F, SWAEFHISEREEBHHHNRUEI, AK
FEeEes. BAUSHR. S8EDs, BaliETEE, T/ UFREMIIRES LK, HE
TENHL, HE, BEIRERERS.

ME—ERTHBDERASSH, KEWERIEWCHEERSE L, ARHAHER,
BEEDN: BURY. BESERI. BHRAVSEERI DEicE0BHR

MEBSBEITEED. CUFET. DPOWAR—REN, IEB—TEANFEER
B, BRNXALEEXRBR.

Yue Xingfeng Electronics Factory is a 2002 years intelligent sanitary ware manufacturing
electromagnetic valve of mediumsized enterprises.Professional sanitary ware for
household electrical appliances, induction sanitary ware, intelligence, form a complete
set of automatic control industry.Factory is located in yueqing city east industrial zone,
with perfect r&d, manufacturing,marketing and logistics management system.

Xing feng and insist on techonlogical innovation has been followed, relying on the scale
and professional brand service, constantly bigger and stronger.Products are mainly
dicided into:induction series, intelligent toilet series intelligent wei yu of form a complete
set of solenoid valve.The material is divided into brass, plastic series.

Xing feng electronic through continuous efforts, innovation, and strive to industry leading
enterprises, let each use of establishing product satisfaction, is our never—ending pursuit
of goals.

www.ygxf.com



W ZoW202340
— BT EETIETS

BB, ML IEERIDE, IR, MELE, ILEFRE CPEGIS!

Enterprise
Honor

Sl

OSSR, BRMEBRZ
MFBFEFU QISSUGR. BRUERE" RE/St .
R DIREANTES. UDEAER. MEIFABE. DIREN
Fon. LURBSARE” NEBIER.

Xingfeng Electronics adhere to the “create excellent quality,
the pursuit of customer saisfaction,” the qualitu policy.Adhere
to the “science and technology as a precursor to energy
conservation as the goal, to innovation for the chase to the
quality of life and service for the purpose of” business philos—
ophy.

®
http://wvww.ygxf.cc
Xingfeng Electronics Factory

GRE— . BFEL 18BN, BT

AR D BRI

Bk E
AT NERT
om0

— g 6
S B R FE B

Wlﬁi‘!ﬁ& R LY

X oW A i

YO %L 2008 2 D1EIL 2
EE F 20 TR0z B 21
GO OB A RS

L 2006 0T Bos 1)

AHEANLOLALRAT S A RANE P HARTOS TR, RCRTF i W
AFGRFEFHPLAETATL FHARRSFLIRLE,

APHATHRERA+S. AFRARE. FHRARSREFHRLEEhmy
AEMAIE. EHHASTOEARI G HONEN, ARRETRMEEH, +
LUV TS EEL LRt

FHLERAAF LR LS AR LA, FHLARG. . R B2 kile
FHRANGEALE, B, mud ¥ FRCALY LR,

i

S B RE R

bRt S e ]
OB A iR ESR
HOH %A 205 2 0TI O
i B 2ot ol 16 B
OB A FRTRTRTT

5 B 2060 RE A

AENSYELALRESSARARPEFHRENSVE. AT o
ARAER G Rl TR, SRR 2T,

FEHAFHRERAFA, DFRELE. FHRASURASHRLESRmE
RERMIE, LHHAARIEASE 09 A 16 THRM, AREAELRMITY. +
B R RR S DA

PHLERA SRR AR ERL, FHaRNS. . LR i WL
EHRARAEATIE, M. SELEFFRCALEHBLEL,

W18 0 aweas )
. . X, by
-
-

S 3 B4 & FUE B

EES R WAAl|

u W A N

B O %D s 2o,
A2 AU R 2005 S B 16
BOM OB A Sl

HERCE e i 0§ 0a B

FEMEIRAAHRAFIARAPESHAE PV E. ALRTFF i W
ErdsFEtHRERETaRs. PHRIRASELS LA,

AEHAFHRELY TR, O P FEEE FHRARERMF AL S
LS LT SRS SRR PR T VR BUEE DU LS TR T
HALH A B R ARL B

FHR SR MR L. A A R e, BEe
FHAANHEL LN, B, At LFFALAAPHE LR L,

IE 15 5 0 uasms ;::p .
< 7 20 RAE

KAFENEE —WRIERINN

LS

% M %L 2005 2 00916997

A F Wi Flao200s oz A ow

T OB A R TRAT

HEEHPomsior A28
AEREEALARRAEEARALREHES PRIV E. AL F . &

ARREAEFHBLELT RN, FURARRSFLIEAN,
APHEFHRKRAT A, APHEIRR. $HRAG SR FIALRE Ry

HEHREE. SPHALTAUARL N W D ERS. ANRLTHNTEH, §

Higa RN FRAL AL,

FHASLA S MR R, PR . LR, R L
FHRARBEASE. Hi. BELLFFACALSHRLEL,

B 15 5 W S5mne

5 F BT BT FIUE

HRED LR RN

2 W Aokt

M W 006 2 013N
G e 2008 B e H 24 A
¥OH R A SRR

B E 2006 80w B 0T H

AEMBURLEGRALSARARPK MR IV R, ATRF P A
AFAEFEFHPLELTRRL. tHhaRROSE KA R,

RAHATHREBA TS, D HERE. FHAARIRAYHALE Ehmy
HERMAR. EFHAARANESS NN M IHmM. ARMEIRAIEN. 4
LUTER S TR 3 oF P8 LT

MR RN L, F N, A, L, e, L
FHRARSEAL G, N BULETESTAA FHRLEE

EEEEE—

R sz
"

e B B & FE 45

B S ]

B A Niv

BB B s g 00w,
V# Pk P s e v R
R R A SRR

HH RS a2 A

FENAEHZAHREFEARACRF RSPV E. RERTFHE. ¥
LhpsAatapaBifuse FHRIRRSSLINLR,

APHAPHUERA . AFRALR, $HLAS AR HELL SAmE
BXA AR, EEHIRAEESI A 0V AMIM, AN TRMSE. ¥
Hicd B EREL G RIL,

L T T T L e s
HHAHE LA LR, B, AL EFFALAL SRR

v, Pl

ER AR T TR

S B B E RE

HREY &R AN
E W A Wi RESR

YO WL 2005 2 00RI060, @
GHPNA 05K A B
THR AL Qim’)ﬂ“ﬂﬁ"

BEES Hemsieor Azl

EFRANEATAORETSANAFEFHASTRFVE. LT i -
KEAANSHHERB Lt $HAARRSSEIEL N,

AFHNP RS TE. AF AR, SN HA LR R
BLEMEE. AFUNSRASEART 020 0 M. AR RAE N #
LUSTET B e S PR

RN LS AR, FHMT, B, LR L. L
FHRANHES S0, BE. SR RIFRCALHPRHL,




Application 360° ZZ i
FRBVRUL EFEVEIMEIEIR

OV zemaw V) pistese (V) angmy Bk 3K

Domain
IEEE




Products

contents

ERED IR IR ARSI

sl

e

FESKBR PR ARS

ZNF-A

EBEES BB ||

Page 03

ZNF-B
ER SRR IR
Page 05

ZNF-D
ERESREERUIR
Page 07

ZNF-F
ERESIIEEB IR
Page 09

LTF-AB)
HSEODE
Page 13

LTF-B
JSKBXPiR
Page 15

LTF-D
ToSKBRPIR
Page 17

LTF-F
J23REXPHR
Page 19

XCF-A
1] VPR
Page 22

XCF-C180
VDI
Page 24

XCF-E180
1JVPIR)
Page 26

XCF-G180
VDI
Page 28

XCF-1180
1] VPR
Page 30

XCF-K
— PR
Page 32

ZNF-A1
LSRR R
Page 04

ZNF-C \
EREEEEB IR
Page 06

ZNF-E
BRI HEEBHIR
Page 08

ZNF-G
EREIIEEB IR
Page 10

LTF-A(FR)
J23REXPHR
Page 14

LTF-C
JESKBKPIR
Page 16

LTF-E
TESKEXPIR
Page 18

XCF-B180
1] VPR
Page 23

XCF-D90
ARVl
Page 25

XCF-F180
VPR
Page 27

XCF-H
1) ViR
Page 29

XCF-J
1] VPR
Page 31

XCF-L
— PR
Page 33

FeREx

RBETMEBRST
Yueqing
Xingfeng
Electronics factory

e INPEXIPIR NP —A LRI PRI ARSI

~== YTH-A180 YTH-B180
i B — MO —IMODR
= Page 34 Page 35
~—
R
~= YTH-C YTH-D180
ﬂ — IR — IR
Page 36 Page 37
—
PEE—AKLER PRSI
; TCF-A TCF-B
B | maom BRI
e Page 40 Page 41
— - J
R
H"" TCF-C TCF-D
. PR FE P
¥ Page 42 Page 43
—
(" —mm)
-’1{__ TCF-E TCF-F
A | mEeE ]
o | Page 44 Page 45
TCF-G TCF-H
FHE IR FHE PR
Page 46 Page 47
KIPRKPiER 75
R )
== DCF-A & ""'; DCF-B
| oo i@% FDE
L% | Page5s0 A | Pageb51
— ~—
0 )
==| DCF-C _L DCF-D
— KPR RPHR
éjﬁ Page 52 éﬂ Page 53
— —
0 )
~—== DCF-E ~= DCF-F
e . ROPHR e KD
e ] Page 54 :'__2_5; Page 55
—
— DCF-G DCF-H
.| RPR KPR
Page 56 : Page 57
) (— ) )
- XQ-18 XQ-20A . | CK-A
58 | =@ ﬁ B
- | Pageb9 ' - Page 59 Page 61
~— — ~—
R KT )
=5 | xa-208 XQ-21 came, | CK-B
%8 h &8 @ Bt
== | Page b9 % | Page 60 N Page 61
— — —
Ee— ) ) )
XQ-26 — XQ-30 CK-C
%8 \' %8 E I Br
.| Page 60 Page 60 . Page 61
- - =) -/




(360°

[ \j@

1By L

E&W@HFN

VZRBTE (V) BiEIERE

4‘.]' CI E

N AT ST HIRG R AR, BRI T
TREES, 188 T RONISEENEESD, BT RSRIEE
DIEARIHENRITE, RFNRESEDE, BEEEN
O EIERE . RA—HE_BHER, TAUPE. IR, BxF
ZINEE, FENEBHIRBERS, BEREAANBNS 68
ENEHEZI ST

(VNI (VI (M kIR

LTS

Summary

Switch used in the automatic control system, fluid control,the internal ues
of two cavity pressure control, enhanced the reliability of the valve and
service life, reduces the maximum and minimum pressure valve switch is
needed for the pulse width, the unique impurities self-cleaning
function,make it has held in superior performance. Take the form of one
and two,complete the washing,siphon, cleaning and other functions. the
fasteners of the products have unts, and the fastening of bolts greatly
increases the strength and longevity of the product.

XINGFENG | 01




E8e DR B A

Intelligent toilet solenoid valve series

XFBZ

e ARIEFNRSEL Technical Feature & Parameter

f_:é  * {#A1%8A Instruction
{% g EMEROPERE Rated voltage DC 9V
i s £XFEERPA Coil resistance 20Q +0.5Q(20C)
?ﬁ % &ILEBFA Min Current 320mA
FXPEEE Pulse width 30-50ms
TVERE/] Operating pressure 0.02Mpa~0.8Mpa
NPURE Media temperature | 1°C~75°C
I@A78%8 Responding time F< 0.155% <0.55 open<0.15s close<0.5s

y E7 (Mpa)

TERE (HZ%) Working flow rate (for reference) X =50y + 11.562 +0.5L

* ENSHEOXR )

Relation between pressure /
and flow rate 06 -

0.4 ./
0.2 —

0 L L L L L L L L L L L X;ﬁ% (L/m|n>
0 10 20 30 40 5
£7J(MPa) Pressure (MPa) 0.05 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8
AEIIE(KG/min) Average flow rare(KG/min) 10.6 16.5 23.1 29.1 33.6 38.4 42 45.6 48

* HEREIRLE Performance test

52170 The strength test £2[51 .6MPa Static pressure 7K FEWithstand voltage pressure 1.2Mpa/5min
NI No—load test EB[E9V Voltage 9V FOUFBRAR(EB/E) Permissible limiting voltage V*1.15

SXKEBEISKA

High water pressure startup and closing

XE0.8Mpa, EBE9V, EBHIRERESBIISAA

At water pressure 0.8Mpa, voltage 9V, the solenoid valve can be started and closed normally

FOKEBI=RA

Low water pressure startup and closing

JKE0.02Mpa, EBK6~9V, EBRIREESBEISAH

At water pressure 0.02Mpa, voltage V9, the solenoid valve can be started and closed normally

SKEIREE Leakage upon high water pressure

1.2Mpa o) zero leakage

FEXER

=
== Leakage upon low water pressure

0.02MpaittiFE <0.1mL/min 0.02Mpa leakage <0.1 mL/min

B8 5382 Electric strength

SBTNSEILNIESERECBNASRZ150v/50Hz, FRBEBH0.75mA, 1 minfiEMAAEZFINER

Among the conductive part,mounting hole and nonconductive metal,it can withstand 1500V/50Hz leakage current

0.75mA for 1 min without the breakdown

4545838 Insulation resistance

FEB00VIKIRZMIT S EB B3 SIFFBEREZEBIEAE=100MQ

The resistance between the charged part and nonconductive metallic part tested by the megohmmeter of 500V=100M Q

— S[E High pressure 1 MPa
=5, Air
%% Low pressure 0.02 MPa
B Sealing test SI[E High pressure 1.2 MPa
Static pressure F5& 57K Cold water = e
{5 Low pressure 0.02 MPa
S/E High pressure 0.8 MPa
UK Hot water = 9P
{FK/E Low pressure 0.02 MPa

{hFa/omil Service life

=Min 1,000,000 cycles (CJ/T194-2004) =1,000,000 FH; FFSCIT194-2004E5%

* T/EMEZESK Requirements of working environment

TENRRE

Temp.of working environ mlent [

FOHFIRE COKED

Permissible limiting pressure (water pressure)

<1.2Mpa

TIENRRE

Humidity of working environment

35%~90% RH(TCLSZRIRT)
35%~90%RH(No condensation state)

200
Mounting direction

EHHO, IRERBY60E
It is mounted in vertical direction,
the inclination doesn’ texceed 60 degrees

REEE ~5~ +80°C (JLEEHIRTS)
Storage temp -5~ +80°C (No freezing state)
RzTE 25% ~95%RH (T4 Z2IRTS)

Storage humidity

25% ~95%RH(No condensation state)

02 | XINGFENG



O =B E 3

O PiEtEsE O Bk

(J LLAMAIEE. () K ERR

XFBZ

Model: ZNF-A

ZEHBFR Accessories
FESNO. | B2FR Name

1 BIR% Power cord
2 SEBRT Coil components
3 1REJ4-M4 Screw 4-M4
4 IIRITEE Acting valve core spring
5 | WEUEE  componens o°
6 onlE O-rings
7 R= Cover
8 BEeE Since the spring cleaning
9 fBRAH Diaphragm components
10 RIRELE Body components

inlet GHKO)D
VBRI

1. BPAJEN, ERE

USTIEE=N

SSN EHREMHRrmERLSH

HS. ZNF-A/DC 6V/ERENPT _FIXKEATR.
IWRISERSYIIT. DRS. ZNF-A; QK. DC6V;
QFFBT: ERIPR; @5 IHEIT. —BKEAR;
2. WEPBRHEKX, BB,

SNFZR~F B Size of installation

“118

DCHIKEZ MK SM£,
Waterproof DC line  Two core waterproof line SM line

Note

When ordering, please specify the specifications and quantity of the required product
according to the “model meaning” .

Type: znf-a/DC 6V DC pulse type two—core waterproof wire A.

This model has the following meanings: the type: ZNF- A; Voltage: DC6V;

Switch type: dc pulse type; The type of line: type: two-core waterproof line A,

If the user has special request, please specify in detail when ordering.

XINGFENG | 03




\XFEZ E04E I 1% BB 1 R 22 51

Intelligent toilet solenoid valve series

Model: ZNF-A1 SMEZRY B Size of installation
== -
J Ol
_J
Hv‘.l r‘_"
N e
- |
m_,__,_,.y‘J 1:\':.__ Kx___/
ZEMHBFR Accessories
ESNO. | =R Name
1 IR Power cord
2 SBA Coil components
3 125 J4-M4 Screw 4-M4
4 ORISR EE Acting valve core spring
5 | EMDEH  Soraoeyave core
6 OME O-rings
7 R=E Cover
8 BiEeE Since the spring cleaning
9 [=)=piSlas Diaphragm components
10 RUALEE Body components

2720

inlet GEZKD) DCRIXZ FRIBK SM&y
4,5/ Waterproof DC line  Two core waterproof line SM line
J BRI Note

1. APEIJRN, BRE ‘BSESN IIEETRENRESHT When ordering, please specify the specifications and quantity of the required product

EGEEN according to the “model meaning”

HS. ZNF-A/DC 6V/EREODPT_OFIKEATR . Type: znf-a/DC 6V DC pulse type two—core waterproof wire A.

WHRISEMRSYITR. DRSS, ZNF-A; Q8BK: DCsV; This model has the following meanings: the type: ZNF- A; Voltage: DC6V;

QF XA, RPN @SBRI, TTRHKEAIR; Switch type: dc pulse type; The type of line: type: two—core waterproof line A;

2. WBPERKEK, BaJuihF41585, If the user has special request, please specify in detail when ordering.

04 | XINGFENG



DRFEE O BEEE O BK 4 M I &
O WHEEE @ IR k I4 Iil

Model: ZNF-B HMNIZ R~ B Size of installation

PR
o

OO

.
E:

& ¢
i
]
=

il
=

ZEREBHFR Accessories

FESNO.| iR Name >

1 BIR% Power cord 1

2 SHEEHT Coil components

3 IR£]J4-M4  Screw 4-M4 9

4 oIRINGEE  Acting valve core spring 3

5 | HPTE Components 4

6 OB O-rings 5

7 ®= Cover .

8 EE5kMEE  Since the spring cleaning

9 B84 Diaphragm components 7

10 | EEmEEL bt somponents 8

11 RiREH Body components

9
~TA
B

inlet GH7KCD) DCHIKER I SM£g
i]'ﬁéﬁﬂ] Note Waterproof DC line  Two core waterproof line SMline
1. FPAIJRN, BiRE ‘ISSY IEnMHETRERESH When ordering, please specify the specifications and quantity of the required product
BFE, according to the “model meaning” .
HS: ZNF-B/DC 6V/ERENDPT_OFIKEATR. Type: znf-b/DC 6V DC pulse type two—core waterproof wire A.
WHRISEMRSYITR. DRIS. ZNF-B; @Q8BK: DCsV; This model has the following meanings: the type: ZNF- B; Voltage: DC6V;
QHXMT,. BERPI, @3 IHLEEAY. TTHKERAR; Switch type: dc pulse type; The type of line: type: two—core waterproof line A;
2. WBPERKEK, B JuihF41585, If the user has special request, please specify in detail when ordering.

XINGFENG | 05



XFBZ

E e SBBEHE R

Intelligent toilet solenoid valve series

Model: ZNF-C

ZEH2FR Accessories
FSENO. | 2R Name

1 IR Power cord
2 SBA Coil components
3 1REJ4-M4 Screw 4-M4
4 oRITEE Acting valve core spring
5 | MEEH  componems .
6 OME O-rings
7 Rz Cover
8 BiEeE Since the spring cleaning
9 BRAH Diaphragm components
10 RUAZEE Body components

inlet (GFKO)D
VIR

1. BPEITHSN, BRE ASSY TR RERESH
[ER N

HS. ZNF-C/DC 6V/EROPT K EATR
WRISEMRSYIIT . DRS. ZNF-C; @8E: DCBV;
QFFREIT: ERIRPI, @S |HBESE: TINBHKEAR;

2. WARPBERHREK, B JWIFMBERH,

06 | XINGFENG

F=Ga D #EE Stucture Diagram

ZRIRD

DCHIKEZ — MIREIXKE SMZg,
NOTe Waterproof DCline  Two core waterproof line SM line

When ordering, please specify the specifications and quantity of the required product
according to the “model meaning” .

Type: znf-c/DC 6V DC pulse type two-core waterproof wire A.

This model has the following meanings: the type: ZNF- C; Voltage: DC8YV;

Switch type: dc pulse type; The type of line: type: two-core waterproof line A;

If the user has special request, please specify in detail when ordering.



O RRAY O DR O RGK \d M BEY A
[ LIAMRRERE (0 HKHRR kl‘ Iil

Model: ZNF-D HMNIZR~ B Size of installation

115

O N
127 m] ©

82

o .
TEHRFR Accessories
FBSNO. | 2FR Name
1 BIR% Power cord 1
2 SEBAT Coil components 2
3 1REJ4-M4 Screw 4-M4 3
4 SIRITSEREE Acting valve core spring 4
5 METELE  baowante valve core 5
6 (oLl O-rings 5
7 R= Cover
8 BiEeE Since the spring cleaning 7
9 fBRAH Diaphragm components 3
10 RIRELE Body components 9
10
B A C
- A
B

. - DCHI7KE, I SM£&

inlet (1&7J<D ) Waterproof DC line Two core waterproof line SM line

T4

VI ER7A0 Note

1. PR, BiRE “BsSSY” T aERESH When ordering, please specify the specifications and quantity

IBFEE, of the required product according to the “model meaning” .

HS. ZNF-D/DC 6V/EmAKPT _UBAKEAl. Type: znf-d/DC 6V DC pulse type two—core waterproof wire A.

HRSEARSYOT: ORS: ZNF-D; @HB[F: DCsV; This model has the following meanings: the type: ZNF- D; Voltage: DCBV;

QFF KRBT BRI, @3 IHEIH . TINBK&AIT; Switch type: dc pulse type; The type of line: type: two—core waterproof line A;

2. WBPBERHEXR, B JEIE4iE0E, If the user has special request, please specify in detail when ordering.

XINGFENG | 07



PR
o

&N Fi

BE
=4
i
=)
i

XFBZ

E e SBBEHE R

Intelligent toilet solenoid valve series

Model: ZNF-E

- =
ZEHBFR Accessories
FESENO.| =R Name
1 BIRE Power cord
2 ZEEE Coil components
3 I2£]J4-M4  Screw 4-M4
4 oIRITSEE  Acting valve core spring
5 | WELEE  Somaorens . O
6 ol O-rings
7 wE Cover
8 EEHKUEE  Since the spring cleaning
9 BHAN Diaphragm components
10 | emmman o tomsonent
11 BRRRLE Body components

inlet (GFEKO)D
VIR

1. APEITRN, BiRE ‘BISSY” AR R ERRSH
BHHE,

HS: ZNF-E/DC 6V/ERIKPI DK E&AG
IVRISEMRSWIT: RIS ZNF-E; @84: DC6V;
QFFXET: BERIKPI @SIHEER. INFKEALR;

2. WBPBERHEX, B4,

08 | XINGFENG

.ﬂ\\dl\\“ﬂ‘\um\l

A

B
DCRIXZ

Waterproof DC line

FRITFEKER SMZL,

Two core waterproof line SM line

Note

When ordering, please specify the specifications and quantity

of the required product according to the “model meaning” .

Type: znf-e/DC 6V DC pulse type two—core waterproof wire A.

This model has the following meanings: the type: ZNF- E; Voltage: DC6V;
Switch type: dc pulse type; The type of line: type: two-core waterproof line A,
If the user has special request, please specify in detail when ordering.



D RFEE O g O BK 4 M I &
O WHEEE @ IR kl‘ Iil

Model: ZNF-F HMNIZ R~ B Size of installation

ZEHBFR Accessories
FESNO.| FR Name 1
1 IR Power cord
2 i rAsyas Coil components 2
3 1REJ4-M4  Screw 4-M4 ,
4 oiRITSEE  Acting valve core spring
5 | WETANE Components o 4
6 OfYE O-rings 5
7 RE Cover
8 BEMEE  Since the spring cleaning 6
9 SR8 Diaphragm components 7
10| SRR St somponants
11 RIAZBE Body components 8
9

W
ZlZD

DCBAKE FRITRAKE SM&

inlet (EDKD ) Waterproof DC line Two core waterproof line SM line
TS

VBRI Note

1. APEIJRN, BRE ‘BSESN IIETRENRESH When ordering, please specify the specifications and quantity

RS, of the required product according to the “model meaning” .

HS. ZNF-F/DC 6V/ERKDPT WK AlR, Type: znf-f/DC 6V DC pulse type two—core waterproof wire A.

WHISEMRSYITR. DRIS. ZNF-F; Q8&: DC6V; This model has the following meanings: the type: ZNF- F; Voltage: DCGV;

QF XA RPN @S|BEIT. TTHKERAIR; Switch type: dc pulse type; The type of line: type: two—core waterproof line A;

2. WERPBERKEKR, B JuihF41585, If the user has special request, please specify in detail when ordering.

XINGFENG | 09



\XFEZ 088 T 4% 60 1 jR 22 5

Intelligent toilet solenoid valve series

Model: ZNF-G HMNIZR~ B Size of installation
™ it W an

80

78

TEHRIR Accessories FrGa D f#RE Stucture Diagram
FESNO. | 2FR Name

1 BIR% Power cord

2 SEBRT Coil components

3 1REJ4-M4 Screw 4-M4

4 TRITSEES Acting valve core spring

5 | MAnEE  enaevave core

6 (OFiilli) O-rings

7 R= Cover

8 BEReE Since the spring cleaning

9 BRAEH Diaphragm components

10 R Body components

B A C

inlet CGHAXO) ngplzzfjéﬁ\e Tw@r%’fﬁjﬁff line SSMM|§
1TERA] Note
1. BPEJSN, B8iE ‘ResVY FEMETRERILEN When ordering, please specify the specifications and quantity
IBFEE, of the required product according to the “model meaning” .
S, ZNF-G/DC 6V/BERIPTl MK EAIR o Type: znf-g/DC 6V DC pulse type two-core waterproof wire A.
WHISEASYIUTR. DRSS, ZNF-G; QB/&. DCsV, This model has the following meanings: the type: ZNF- G; Voltage: DC6V;
QFF R, BERIRPI, @3 |HEER. TINBHK&AR; Switch type: dc pulse type; The type of line: type: two—core waterproof line A;
2. WEPBERHKER, B JuihE41E8, If the user has special request, please specify in detail when ordering.

10 | XINGFENG



(360° L7l

1YL
BRI I Hn

VZRBTAYE (VP (VMR (VA ) RERMR

ll

Q'b N

Lo 9 Summary

N AT BEHIRG D I IMERBRNLSERA T A6, RE Used in the automatic control system, infrared induction sanitary ware fluid,
FEM T RUESHTRIRRE], 128 S RNaEUriEmEs, BR switch control, internal use of two cavity pressure control, enhanced the
e 0 [ESPUIRIN > s reliability of the valve and service life, reduces the maximum and minimum
I RSBRET) T RFFRAHREEPEE, MRS REEIRE, pressure valve switch is needed for the pulse width, the unique impurities

EHEBMOSTENE, XA—I—WeE, TWEalPK self-cleaning function, make it has held in superior performance.The
B, FRNEBHYXARE, BREBAKRS ST R00RER automatic flushing function is achieved by adopting one in one. The fastener

5o of the product adopts bolts, and the nut connection greatly improves the
strength and life of the product.

XINGFENG | 11



Sl

Leading pulse valve series

XFBZ

¥ ARIEFRSEL Technical Feature & Parameter
* B8 Instruction

BNERKPER/E Rated voltage DCBV

ZZBEBME Coil resistance 17 Q +0.5Q(20°C)

BIEEB7A Min Current 320mA

FOPEEE Pulse width 30-50ms

T{ER/]) Operating pressure 0 .02Mpa~0.8Mpa

NEVEE Media temperature | 1°C~75°C

l@f8%/E Responding time F< 0.1555%<0.5s open<0.15s close<0.5s

y & (Mpa)

—
@
@
a
@
®
<
)
@
@
)
@
)

T1ERE (HZ%E) Working flow rate (for reference) X =14.32y + 3.78 +0.5L
0.9
hraq=—1 0.8 °
* Ej] ‘—30%28’99&%’:\‘ 07 /
Relation between pressure 06 //'
and flow rate 05
04 //
03 ——*
02 ——e
0.1 9
0 TR X R&E (Umin)
0 5 10 15 20
F&£73(MPa) Pressure (MPa) 0.05 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8
mEYIIE (KG/min) Average flow rare(KG/min) 3.6 5 7.2 8.8 10.2 1.4 12.2 13.6 14.3
* 4BEIRYE Performance test
SBET\L The strength test £2&1 .6MPa Static pressure 7K EWithstand voltage pressure 1.2Mpa/5min
EHIRT No-load test Voltage V*3.6(E3/E),pulse width 50ms (X PFE) TOUFRE(EBE) Permissible limiting voltage V*1.15

KH0.8Mpa, EEDCA4.5V, BNPEEEL0ms, BUAREEERBa)SKHA
At water pressure 0.8Mpa.voltage DC4.5V,pulse width 50ms,the solenoid valve can be started and closed normally

SXEBHSRHE

High water pressure startup and closing

FXEBm=SXA

Low water pressure startup and closing

7K0.02Mpa, E3/RDC4.5V, FXDEEE50ms, BHIRAEIERE B SK M
At water pressure 0.02Mpa.voltage DC4.5V,pulse width 50ms,the solenoid valve can be started and closed normall

S/KEMIRE Leakage upon high water pressure | 1.2Mpa Tot®  1.2Mpa zero leakage

0.02MpajtfgE<0.1mL/min 0.02Mpa leakage <0.1 mL/min
SBENSLESLNIESBEEZBNASRZ500v/50Hz, JREBEER0.75mA, 1 minfyEMAh SR

Among the conductive part,mounting hole and nonconductive metal,it can withstand 500V/50Hz leakage current
0.75mA for 1 min without the breakdown

FRB00VIKIRZRMNH SR DSEFSBRB<BHIBME= 20 MQ
The resistance between the charged part and nonconductive metallic part tested by the megohmmeter of 500V= 20 MQ

K EMRE Leakage upon low water pressure

35382 Electric strength

#B43ERRA Insulation resistance

Ry S/ High pressure 1 MPa
== Air

{5 Low pressure 0.02 MPa

BE T Sealing test =SJE High pressure 1.2 MPa
Static pressure &8k 37K Cold water = ap

& Low pressure 0.02 MPa

SFE High pressure 0.8 MPa
UK Hot water =

{E%/E Low pressure 0.02 MPa

RS omidl Service life

=Min 1,000,000 cycles (CJ/T194-2004) = 1,000,000 FER; RFECI/T194-2004EK

* TYEMMEZESK Requirements of working environment

TYENRRE

Temp.of working environ mlent I BT

FEFIRE OKED

Permissible limiting pressure (water pressure)

<1.2Mpa

TYEARTE

Humidity of working environment

35%~90%RH(TCLSZRIRT)
35%~90%RH(No condensation state)

2RO
Mounting direction

FEHHO, MRNETBII60E
It is mounted in vertical direction,
the inclination doesn’

t exceed 60 degrees

RZEE —5~ +80°C (JLLEKIRTS)
Storage temp -5~ +80°C(No freezing state)
RIZTE 25% ~95%RH(TESFRIRTS)

Storage humidity

25% ~95%RH(No condensation state)

12 | XINGFENG



O RFRETE O b O EK ‘
O IHMERRR. (O T KRR \I I'I

Model: LTF-A(B) ANFEZR Y B Size of installation

66

S¢

612 30.5
| (%DQT
@ @ oo
68
TEREBFIR Accessories F=&ARE Stucture Diagram
FBENO. | =R Name

1 P5dic st Coil components :
2 EBIR% Power cord )
3 125 ]4-M4 Screw4-M4
4 IRIEE  Acting valve core spring 3
5 | WALEE  comaonens 0 4
6 ORYE O-rings 5
7 OZYE O-rings
8 R= Cover 6
9 EEMEE  Since the spring cleaning ;
10 fEF 8 Diaphragm components .
1 BN Valve body
12 HKEH Inlet pipe pieces 10
13 HKEH Water pipe fittings 11

12

ST oA I
13
B
A/B

A AI‘

DCBAKEL FRITFHKE SM&g,

25mm 30mm inlet GEZKO)D inlet GEZKO)D Waterproof DC line ~ Two core waterproof line SM line
»ﬂ:,/
J BRI Note
. BPEIJSH, BiRE (HSSY TSI RERS When ordering, please specify the specifications and quantity of
ﬂ?@*ﬂiﬁlio the required product according to the 'model meaning".
RS, LTF-A/DC 6V/EMRDPTN _iTHK&AR Model: Itf-a/DC 6V/DC pulse type two-core waterproof wire A.
HRISEASWYITR. OHS. LTF-A; Q8B&: DC6V; This model is defined in the following: type: Itf-a; Voltage: DC 6V;
QFF T, . BERIODT; @3B, KA, Switch type: dc pulse type; The type of line: type: two—core waterproof line A;
2. WBPERHKEX, B JEmF4hiE0e, If the user has special request, please specify in detail when ordering.

XINGFENG | 13



XFZ T SKBKIPPiE 751

Leading pulse valve series

Model: LTF-A(ZE) HMNIZR~ B Size of installation

G1/2
Y

@
@
o
@
)
@
)

ZEHBFR Accessories

FESNO. | 3R Name
1 LEEH Coil components
2 IR Power cord 1
3 1RET4- M4 Screw4— M4 2
4 TORRITEEREE Acting valve core spring 3
5 | AMTERF  components 4
6 OoflE O-rings 5
7 OflE O-rings
8 = Cover 6
9 BEheE Since the spring cleaning 7
10 BRHAH Diaphragm components 8
M [GIL%N Valve body 9
12 HXEH Inlet pipe pieces 10
13 HKEH Water pipe fittings 11
(DR 12
13
A A /
SO
25mm  30mm nlet GEKO) et Gk DOACE | DI, SM%
1TERA] Note
. FPEITERDNY, BIRE SES\Y” |, FEEEFREAIS When ordering, please specify the specifications and quantity of
M%ﬂﬁio the required product according to the "'model meaning'".
ig LTF-A/DC 6V/ERE0DPT A ATR Model: Itf-a/DC 6V/DC pulse type two-core waterproof wire A.
HSEMRSVYITR. DRIS. LTF-A; Q8B/&: DCsV, This model is defined in the following: type: Itf-a; (2) voltage:DC 6V;
’S,,FFSY{ Ui EUWEE\/EPT @S| HEER.  IEBHKERAR; Switch type: dc pulse type; The type of line: type: two—core waterproof line A;
2 . WARPERHEKR, 1BAJEIFBEER, If the user has special request, please specify in detail when ordering.

14 | XINGFENG



O RFEE O BEEE O BK 4 M I &
O WHEEE @ IR kl‘ Iil

Model: LTF-B HMNIZR~ B Size of installation

TERHZHR Accessories F-aa) %A Stucture Diagram

ESNO. SR Name
1 BRK Powercord
2 HEEHT Coil components
3 1REJ4-M4 Screw4—-M4
4 IRITEE Acting valve core spring
5 MIUEE  Sonoonents 0
6 oflE O-rings
7 [B3F Cover
8 BERE Since the spring cleaning
9 BRAH Diaphragm components
1 ORUE O-rings
11 RIR Valve body

o

inlet (KO DCBAKEs FRITRAKER SMZ,

Waterproof DC line Two core waterproof line SM line
AT
VBRI Note
1. BFPEJSEN, BRiE HSESY THEIEFRERLSH When ordering, please specify the specifications and quantity of
RIS, the required product according to the 'model meaning'.
HS: LTF-B/DC 6V/ERKPT_IDBHKEAIR Model: [tf—b/DC 6V/DC pulse type two—core waterproof wire A.
IWEISERSYWT: DES.: LTF-B; @B/&: DC6V; This model is defined in the following: type: Itf-b; Voltage: DC 6V;
QHFET: ERIPI; @SB, FK&A; Switch type: dc pulse type; The type of line: type: two—core waterproof line A;
2. WEBPBRHEK, BB, If the user has special request, please specify in detail when ordering.

XINGFENG | 15



—
o
S
a
@
®
<
o
®
»
)
@
®

XFBZ

Sl

Leading pulse valve series

Model: LTF-C

TER2FR Accessories

HMEZR~ B Size of installation

99

F=&afRE Stucture Diagram

FBENO. | 2R Name
1 SKEBEH Coil components
2 IR Power cord
3 1RET4- M4 Screw4— M4
4 SIRITSEE Acting valve core spring
5 AU eowabe valve core
6 OflE O-rings
7 OflE O-rings
8 R= Cover
9 BEEE Since the spring cleaning
10 BRAH Diaphragm components
1 IR Valve body
12 KB Inlet pipe pieces
13 HKEH Water pipe fittings

inlet GO DCEH7KZ FRITT7K LS SM&;
Waterproof DC line Two core waterproof line SM line
VTSR0 Note

1. BPEIS, ERE
AR

WESY , TR EARS

=

When ordering, please specify the specifications and quantity of
the required product according to the "model meaning".

S LTF-C/DC 6V/ERPIN Bk &KAl,
ITRISEMRSYIT. ORS. LTF-C; @8/E: DCsV,
QFF R BRI, @3 IH5IH. TIFHK&ALR;
2 . WARPERHEK, 1BaJEFBEER,

16 | XINGFENG

Model: Itf-c/DC 6V/DC pulse type two—core waterproof wire A.

This model is defined in the following: type: Itf—c; (2) voltage:DC 6V;

Switch type: dc pulse type; The type of line: type: two-core waterproof line A,
If the user has special request, please specify in detail when ordering.



O RFEE O bk O Ak \q W BEY A
[ 5P (O KRR kl‘ Iil

Model: LTF-D HMNIZ R~ B Size of installation
] ©
.. 022
I

@145

s

—

TEMHZIR Accessories

FESNO. SR Name
1 BIR% Powercord
2 sqicAEes Coil components
3 1RE]4-M4 Screw4—-M4
4 THIRITEE Acting valve core spring
5 MG (omponens .
6 oA O-rings
7 R= Cover
8 BERE Since the spring cleaning 5
9 (=) apistian Diaphragm components 6
10 (517N Valve body [ ———
7
y 8
—=
e' = 9
o
inlet (3 DCHIKER FRITBIKE, SM£x
1H|8{ g%;}ga 3 Waterproof DC line Two core waterproof line SM line
AT
VI ERA0 Note
1. BPEIJRN, BiRE “RSEX” AHEMETRERESH When ordering, please specify the specifications and quantity of
RIS, the required product according to the 'model meaning'.
HS.: LTF-D/DC 6V/ERIDPT_ K& ATR. Model: Itf—d/DC 6V/DC pulse type two—core waterproof wire A.
IWEISERSYWT: QRS LTF-D; @8/f&: DC6V; This model is defined in the following: type: Itf—d; Voltage: DC 6V,
QF KA. BRI @S[BS, TINHKEALR; Switch type: dc pulse type; The type of line: type: two—core waterproof line A;
2. WAPERHEKX, BEJBImF4MEeE. If the user has special request, please specify in detail when ordering.

XINGFENG | 17



XFZ T2 SKBKIPPIE 751

Leading pulse valve series

Model: LTF-E HMNIZ R~ B Size of installation

@185,

21.5

""UM
IS -
—— I S—
Sk = .
TEMHRFR Accessories FrEaDEE Stucture Diagram,
FESNO. 2R Name
1 BIR% Powercord
2 SBE Coil components 1
3 1REJ4-M4 Screw4—-M4
4 THIRITEE Acting valve core spring 5
5 | EBDEE  Soiorenss
6 OflE O-rings
7 RE Cover 4
8 BERE Since the spring cleaning
5
9 =) apdstian Diaphragm components
10 R Valve body
8
9
10
|
> oA
B
inlet GAKO)D DCRA7KEL FRITIIZKER SMZx
Waterproof DC line Two core waterproof line SM line
44:,/
VIR Note
1. BPEJEN, BIRE BSsY , FEREFRBEMAAIS When ordering, please specify the specifications and quantity of
ST E, the required product according to the 'model meaning".
HS.: LTF-E/DC 6V/EREKDPT KA, Model: Itf-e/DC 6V/DC pulse type two-core waterproof wire A.
WAISEMRSYI . QRS LTF-E; @8k DC6V; This model is defined in the following: type: Itf—e; (2) voltage:DC 6V;
QFFXRT. EREOPT @SB, IBRHKERAIR; Switch type: dc pulse type; The type of line: type: two—core waterproof line A;
2 . WAFPBERHEK, 1B ]+, If the user has special request, please specify in detail when ordering.

18 | XINGFENG



O RFAK O bR O %

XFBZ
O MR (O AR | J

Model: LTF-F HMNIZ R~ B Size of installation

i
oy

[} L ]
o 58
o3 [ vl .
TERMFZHR Accessories Fraa 2B Stucture Diagram
ESNO. SR Name
1 BIR% Powercord
2 “HEEH Coil components |
1
3 BEJ4-M4  Screwd—M4 2 ﬂ—
- 3
4 TR R E Acting valve core spring u
5 | EEBDEE  Soiorenss 4
6 OflE O-rings
7 R= Cover 5
8 BERE Since the spring cleaning
9 (=) apistian Diaphragm components 6
10 (5917 Valve boby 7
11 HXEH Inlet pipe pieces 8
12 HKEH Water pipe fittings 5
10
11
s> A
12
inlet Gk DCIOKE: MGRIKE SMZ
Waterproof DC line Two core waterproof line SM line
44:./
JER] Note
1. AP, 1BRE ‘ASSY” TR RERISH When ordering, please specify the specifications and quantity of
&=, the required product according to the "model meaning".
BIS. LTF-F/DC 6V/ERRPT _IDBHKEAIfR Model: LTF-F/DC 6V/DC pulse type two—core waterproof wire A.
WRSEARSWIT. QRS LTF-F, @8&: DC6V; This model is defined in the following: type: LTF-F; Voltage: DC 6V;
QFFRUT. BERIPTL; @3 [HBERZEHE . INEHKERAR; Switch type: dc pulse type; The type of line: type: two—core waterproof line A;
2. WEBPBRHEX, B IEIE4EE, If the user has special request, please specify in detail when ordering.

XINGFENG | 19



(360° Z2 M)
=00
T FX BV A8 I 3B A

(VZRBTETE (M PisEieE (JAMRERE (AR [ TKEME

= .

ol ~~4i~ :
-

/EHBZBS MG

seues anpA as|nd pajoibajul yound

[lows / anoA asind paJ DAl ||DWS PajoadU0)

INFEFSH | BS

LTI

ZERhR Summary

N BT EEHIASR DA IMIRBNLSEEEEM. FHRZH, A Used in the automatic control system, infrainfra red ray induction sanitary ware
AR A TRRIEE, 128 TR SIEAERES, 48 toilets, switch control, internal use of two cavity pressure control,
T BReSREENTRAXAENODEE, RISNRBEEN enhanced the reliability of the valve and service life, infra reduces the maximum
B, PEHEBMIEBHEMEE, XA—H—BFL, TABs)P  and minimum pressure valve switch is needed for the pulse width, the

IKIDEES unique impurities self-cleaning function, make it has held in superior
performance. The automatic flushing function is achieved by adopting one
in one.

20 | XINGFENG



\ ~ N = ~ N = = v aw ®
iE 2 INPRKIPIR)/ INP— B BRIPHE D) X7
Concealed small infra red pulse valve / small punch integrated pulse valve series A J [

e ARIEFRSEL Technical Feature & Parameter
* {EFE1588 Instruction

BNEAKPEBE Rated voltage DC 6V

Z%BJEBMA Coil resistance 17Q +0.56Q(20°C)

RIEER Min Current 320mA

FOPEEE Pulse width 30-50ms

T{EFR/] Operating pressure 0 .02Mpa~0.8Mpa

NEUEE Media temperature | 1°C~75°C

lafAgB Responding time < 0.155% <0.5s open<0.15s close<0.5s

y £/ (Mpa)

T/Em&E (H=%) Working flow rate (for reference) X =14.64y + 3.76 +0.5L

* ENSHREBNFER 1

Relation between pressure

0.8 :
and flow rate 06 /

04 Lo
o //'/C/
-
I e S I I I M
0 5 10 15 20 i
E/J(MPa) Pressure (MPa) 0.05 0.1 0.2 0.3 0.4 0.5 0.6 0.7 \§§
HEYIIE(KG/min) Average flow rare(KG/min) 34 4.9 7.6 9.2 10.3 1.4 12.4 13.6 H

* 4BEIREE Performance test

9BE1750 The strength test FPE1 .6MPa Static pressure fiy7ZKEWithstand voltage pressure 1.2Mpa/5min
ZEMT, No—load test Voltage V*36EBHE)  Pulse width 50msXEEE) FRFPRAR(ER/A) Permissible limiting voltage V*1.15

SXKEBEISXA

High water pressure startup and closing

JKR0.8Mpa, EB/EDCA.5V, FNPIEES0ms, EBUIREEIERB=XA
At water pressure 0.8Mpa, voltage DC4.5V, pulse width 50ms,the solenoid valve can be started and closed normally

FXEB=RA

Low water pressure startup and closing

JKR0.02Mpa, EBEDC4.5V, FRPEEES0ms, BHIREEERB=SAA
At water pressure 0.02Mpa, voltage DC4.5V, pulse width 50ms,the solenoid valve can be started and closed normally

S/KEMFE Leakage upon high water pressure

1.2 Mpa 7oit% 1.2Mpa zero leakage

EKEMRE Leakage upon low water pressure

0.02MpaitfFE <0.1mL/min 0.02Mpa leakage <0.1 mL/min

B3 5382 Electric strength

SEBEN SN IESBEECBINEERTE500v/50H z, SREBEEM0.75mA, 1 minfii &M EINER
Among the conductive part,mounting hole and nonconductive metal,it can withstand 500V/50Hz leakage current
0.75mA for 1 min without the breakdown

#8458 Insulation resistance

FHB00VIKMRZFBNMNA S B SIFSETREBNEBEM[=20MQ

The resistance between the charged part and nonconductive metallic part tested by the megohmmeter of 500V=20M Q

o SFE High pressure 1 MPa
=5, Air
L& Low pressure 0.02 MPa
BERTL Sealing test SJE High pressure 1.2 MPa
Static pressure 55K 57K Cold water = gnp
EXE Low pressure 0.02 MPa
=/& High pressure 0.8 MPa
#VK Hot water = e
{5/ Low pressure 0.02 MPa

fbAGTIYT Service life

=Min 1,000,000 cycles (CJ/T194-2004) =1, 000, 000 FHEH; RFSCJ/T194-2004F5%

* TYEMMEESK Requirements of working environment

TIEBNRRE

Temp.of working environ mlent IF 60

FOVHRE OXED

Permissible limiting pressure (water pressure)

<1.2Mpa

HEOO, MANENEII60E

P - IETIRTS, A - . ) A
ﬂﬁmﬁﬁg ) 35%-90% RHUTLSERIAT) . Qz?]iﬁjj N It is mounted in vertical direction,
Humidity of working environment | 35%—-90%RH(No condensation state) | Mounting direction N )

the inclination doesn’ t exceed 60 degress
R=EE ~5~ +80°C (TLEBUIRTS)
Storage temp -5~ +80°C (No freezing state)
R=TE 25% — 95%RH(TSBIRAS

Storage humidity

25%— 95%RH(No condensation state)

XINGFENG | 21




XIII%Z(@ B3 INPRRIPIR]/ I —R BRI 72D

Concealed small infra red pulse valve / small punch integrated pulse valve series

Model: XCF-A HMNIZ R~ B Size of installation

58

415
G2
-\
o . .
TERHEZFR Accessories F= & ARE Stucture Diagram
H  ssNo. 2R Name
1 LBE Power cord :
‘g 2 BIR% Coil components
2 3 1Z5J4-M4 Screw 4-M4 2
H 4 HREE Acting valve core spring 3
5 ALY Movabe valve core 4
6 oflE O-rings
7 OAYE O-rings 5
8 R= Cover
9 BEEE Since the spring cleaning (73
10 [E)oyistian Diaphragm components 5
11 [GI[%N Valve body
12 KB Inlet pipe pieces 9
13 HKEH Water pipe fittings 10
11
12
13

DCPaKE MIBHXE SM%%,

11Tmm 15mm 18mm inlet GFEZKO) inlet GEKO)D

Waterproof DC line Two core waterproof line SM line
T4
VI BAD Note
1. PN, BIRE BSsSWY |, TR RERR When ordering, please specify the specifications and quantity of the requi infra red product
SHETEE, according to the "model meaning".
IS, XCF-A/DC 6V/EREPT_TBHKEATR o Type: XCF — A/DC 6V/DC pulse type two—core waterproof wire A.
HEISEARSYYT. DS, XCF-A28/+&: DC6V; The figure of this model is the following: type: XCF — A; Voltage:DC6V;
QFXRET. BERIPI @3 IB%&IH. TIHRAKEAlR Switch type: dc pulse type; The type of line: type: two—core waterproof line A;
2. WBPBERHEXR, BaJuimE4iseE, If the user has special request, please specify in detail when ordering.

22 | XINGFENG



<

O RFEE O bk O Ak \q W BEY A
[ SN (O KRR kl‘ Iil

Model: XCF-B180 HMNIZ R~ B Size of installation

36.5

74

G1/2

125

415

30.5
11 @
m}@

TERHZFR Accessories F=&aARE Stucture Diagram
FESNO SR Name
1 SKEE Coil components :
2 BIR% Power cord
3 1REJ4-M4 Screw4—-M4
4 b Acting valve core spring
5 | WETAE  components o A
6 OZYE O-rings
7 ofE O-rings 5
8 R= Cover
9 BiEEE Since the spring cleaning 6
10 BRAH Diaphragm components 7
M fRUA Valve body 8
12 HKER Inlet pipe pieces 9
10
11
12
A A

0 L

inlet (HXO) inlet GHXO)D

A/B A/B A/B

Zlle

DCBAKEL RIS SM£,

1 1 mm 1 5mm 1 8mm 25mm 30mm Waterproof DC line Two core waterproof line SM line
T A4S
VI GAD Note
1. PN, BiRE ‘BSsSY | FHEETRERRS When ordering, please specify the specifications and quantity of the requi infra red product
ASTE=, according to the "model meaning".
S . XCF-B180/DC 6V/E MK PTL __mBHKER AR Type: XCF — B180/DC 6V/DC pulse type two—core waterproof wire A.
IWEISERSYIT: WAIS: XCF-B180;28&: DC6VY; The figure of this model is the following: type: XCF — B180; Voltage:DCBV;
QFF R BEREOPI; @5 |HERER. TIOFHKERALR; Switch type: dc pulse type; The type of line: type: two—core waterproof line A;
2. WBPBERHEXR, BaJBimE4isE, If the user has special request, please specify in detail when ordering.

XINGFENG | 23



X l?l%Z® BE 2=\ PRKIPHER)/ NP —IR KPR RS

Concealed small infra red pulse valve / small punch integrated pulse valve series

Model: XCF-C180 HMIZ R~ B Size of installation

i

35 | 285

1111

@:%
P @B
25.8

TERFZIR Accessories F= &2 ARE Stucture Diagram
FESNO 2R Name

1 BIREE Power cord L
2 Z&@BEE Coil components
3 125J4-M4  Screw4-M4
4 TIRIUSEE  Acting valve core spring 2
5 AU Somoonores - " 3
6 oflE O-rings —— 4
7 OZYE O-rings
8 R= Cover 5
9 EEMEE  Since the spring cleaning
10 BHAE Diaphragm components 6
11 (G5 Valve body ﬂ 7
12 HIKBEE  Inlet pipe pieces .ﬁ 8
13 HKEHE  Water pipe fittings = 9

11

12
13

Bé Ao W

43mmAYMNRSF 35mm

inlet GHEKOD DCRAKE Wﬁ@\f%%ﬁ SM@%
Waterproof DC line Two core waterproof line SM line
N T4E4
VBRI Note
1. BFPEJRN, BiEiE eSSV |, TEEFRERTS When ordering, please specify the specifications and quantity of the requi infra red product
AT E, according to the "model meaning'.
IS . XCF-C180/DC 6V/ERIKPIN KA. Type: XCF — C180/DC 6V/DC pulse type two—core waterproof wire A.
IWEISERSYUT: DEIS: XCF-C180;28&: DC6V; The figure of this model is the following: type: XCF — C180; Voltage:DC6BV;
QFXBT. BERIOPI @S| B&ER . IBRHKEAIRG; Switch type: dc pulse type; The type of line: type: two—core waterproof line A;
2. WERPERHKEK, B JBihF4hiEie, If the user has special request, please specify in detail when ordering.

24 | XINGFENG



O B ATE O BERE O Ak
(J LLAMAIEE. () K ERR

XFBZ

Model: XCF-D90

(RIS =

ZEMHBFR Accessories
FBSNO. SR Name
1 IR, Power cord
2 i Asyas Coil components
3 1R£]J4-M4  Screw4-M4
4 oiRITsEE  Acting valve core spring
5 | WEUEE  componens
6 oE O-rings
7 OfE O-rings
8 RE Cover
9 EEEE  Since the spring cleaning
10 BRAH Diaphragm components
11 RUA Valve body
A
inlet GHKO)D
4.
J BRI
1. APEIJHEY, BiRE SSY , ISR RENE
Si)ﬂﬂgﬂlﬁﬁlgo

HUS: XCF-D90/DC 6V/EREPT K &A R
IWRISEMRSVYA T . DRIS. XCF-D90;28K: DC6V,
QFF R, BEREOPI, @S IHLEER . TIHBHKERAlR;
2. WAPBRHRER, 1B JWiE4mEE,

HMFZR~ B Size of installation

e

57

285
37

258

F=GaD#EE Stucture Diagram

DCBAKEL

Waterproof DC line

Note

PTG SM%;

Two core waterproof line SM line

When ordering, please specify the specifications and quantity of the requi infra red product

according to the "model meaning".

Type: XCF - D90/DC 6V/DC pulse type two-core waterproof wire A.

The figure of this model is the following: type: XCF — D90; Voltage:DC6V;S
witch type: dc pulse type; The type of line: type: two-core waterproof line A;
If the user has special request, please specify in detail when ordering.

XINGFENG | 25

-
S
&
3
=S




24Ul [|DUIS PoJDRIUOD

XFBZ

BE 3/ INPRRIPHER/ AN — G BRI R A 5

Concealed small infra red pulse valve / small punch integrated pulse valve series

Model: XCF-E180

HFR Accessories

SNO. | iR Name

IR Power cord
£BEH Coil components
1REJ4-M4 Screw4—-M4
SIRITSEE Acting valve core spring
WG Componens
OflE O-rings
(B Cover
BEkeE Since the spring sleaning
[=lepistian Diaphragm components

10 ORLE O-rings

1" RUA Valve body

inlet (GEZKO)D
VBRI

1. BPEITHSEN, BIRE SESY |, IEETRERES
ANSFHE

IS XCF-E180/DC 6V/ERIIPT_ K& ATR o
IWERISEMRSYIT: DAIS: XCF-E180,28B/&: DC6V;
QHFFRT: BRIPI, @3B, —INFHK&AlR;

2. WERPBERKEK, B JuihF41585,

26 | XINGFENG

HMEZR~ B Size of installation

230

34

F=&a D #EE Stucture Diagram

11

DCBAKZ FRITFHKES

Waterproof DC line Two core waterproof line

SM£;

SM line

Note

When ordering, please specify the specifications and quantity of the requi infra red product
according to the "model meaning".

Type: XCF - E180/DC 6V/DC pulse type two-core waterproof wire A.

The figure of this model is the following: type: XCF — E180; Voltage:DC6V;

Switch type: dc pulse type; The type of line: type: two-core waterproof line A;

If the user has special request, please specify in detail when ordering.



DRFEE O g O BK 4 M X &
O WHEEE @ IR kl‘ Iil

Model: XCF-F180 HMNZ R~ B Size of installation

®30

27.5

G1/2
TN

p%%
@)
=

TERHHZFR Accessories FESROHRE Stucture Diagram
FENO. | FiR Name

1 BIRK Power cord
2 HEEL Coil components
3 IRET4-M4 Screw 4-M4
4 DRI E Acting valve core spring
5 | WEUAE  congonenss”
6 onlE O-rings
7 otlg O-rings
8 ®= Cover 5
9 BERE Since the spring cleaning H
10 fBREH Diaphragm components 6
1 R Valve body ﬁ ;
12 mERTHxE Flow fegulatiang switch o
13

HXEH Inlet pipe pieces
11

>
w
w

o

13mm 15mm 18mm 28mm inlet (GHZKOD) DCRAXE FITIK S SMIZ,
Waterproof DC line Two core waterproof line SM line

N T1E4
VI EmA Note
1. BPEITSEN, BiRiE RSSY , IHMRFRERES When ordering, please specify the specifications and quantity of the requi infra red product
AT E, according to the "model meaning'.
AIS. XCF-F180/DC 6V/ERKPTN_UHK&AlR Type: XCF — F180/DC 6V/DC pulse type two—core waterproof wire A.
IHWEISERSYUWT: DBIS. XCF-F180;28&: DC6V; The figure of this model is the following: type: XCF — F180; Voltage:DC6V;
QFFXRT. BERIPI @S| B&ER . ITRHKEAIRG; Switch type: dc pulse type; The type of line: type: two—core waterproof line A;
2. WBPERHKEX, B JBihF4hiE8e, If the user has special request, please specify in detail when ordering.

XINGFENG | 27



X l?l%Z® BE 2=\ PRKIPHER)/ NP —IR KPR RS

Concealed small infra red pulse valve / small punch integrated pulse valve series

Model: XCF-G180 HMNIZ R~ B Size of installation

230

G1/2

258

TERHZFR Accessories FESRARRE Stucture Diagram
SN0 SR Name

1 IR Power cord 1
2 £BEH Coil components
3 IREJ4-M4 Screw 4-M4
4 oRITEE Acting valve core spring 2
5 WRAUELE  gomponers 5
6 OflE O-rings 4
7 OME O-rings
8 R= Cover 5
9 BiEeE Since the spring cleaning
10 [=)=pislas Diaphragm components 6
11 RAR Valve body 7
12 KB Inlet pipe pieces 8
13 HKEH Outlet fittings 9

-
@ &

inlet GHKO) inlet GHKO)D

. 4
13mm 15mm 25mm 28mm DCRAKEL PRI LS SMZy
Waterproof DC line Two core waterproof line SM line
N T1E4
VTR0 Note
1. BPAEJKRN, BRiE “BISsSY” | FEMETRERAES When ordering, please specify the specifications and quantity of the requi infra red product
HASHEZ, according to the "model meaning’.
#S. XCF-G180/DC 6V/ERITOPT _IDFHKE&AIR. Type: XCF — G180/DC 6V/DC pulse type two—core waterproof wire A.
WHRISERSYITR. DRIS. XCF-G180;,28&: DC6V; The figure of this model is the following: type: XCF — G180; Voltage:DC6V;
QHFER: ERIPI; @S|B&IT. —BRKEAlR; Switch type: dc pulse type; The type of line: type: two—core waterproof line A;
2. WEBPBRHEKX, B JEIFMmiEt. If the user has special request, please specify in detail when ordering.

28 | XINGFENG



O RFEE O BEEE O BK 4 M X &
‘B2
O WHEEE @ IR kl 7 £

Model: XCF-H HMNIZ R~ B Size of installation

©
L

TEHZFR Accessories FrERDRE Stucture Diagram
FESNO. 2R Name
1 BIR% Power cord 1
2 SKBEH Coil components
3 1REJ4-M4 Screw 4-M4
4 TIRTEE Acting valve core spring 2
5 | WAESEE  components 3
6 OfYE O-rings P 4
7 OfE O-rings
8 RE Cover 5
9 BEReE Since the spring cleaning
10 BRAH Diaphragm components ?
11 RUA Valve body ﬁ 8
12 HKEH Inlet pipe pieces 9
13 HKEH Outlet fittings % 10
: 11
12
Z:> Al
AB AB AB 13
é é é B
13mm 15mm 18mm
A/B A/B B A A " ‘,

23mm 25mm 28mm 40mm inlet GO inlet GHXO) DCPHKER I SMZ

Waterproof DC line Two core waterproof line SM line
N T4
VTR0 Note
1. PR, BRE “BsSsSY” | FEMEFRERRS When ordering, please specify the specifications and quantity of the requi infra red product
TSRS o according to the "model meaning".
FUS. XCF—H/DC 8V/E7REDT iTBh IR A Type: XCF — H/DC 6V/DC pulse type two-core waterproof wire A.
HAISEFSVIIT. DFIS, XCF-H:28E: DC6V: The figure of this model is the following: type: XCF — H; Voltage:DCBYV,
OFXET. SRECDR: @3|HSAT. TTKEAR: Switch type: dc pulse type; The type of line: type: two—core waterproof line A;

If the user has special request, please specify in detail when ordering.

2. WRPERHKRER, BEJBINFBEH,

XINGFENG | 29



o
g
2
8
-1
g
g
3
g
2

|lowss / @AoA asjnd

XFBZ

BE 2=\ PRKIPHER)/ NP —IR KPR ZR S

Concealed small infra red pulse valve / small punch integrated pulse valve series

Model: XCF-1180

._-»f){',‘,_..k_‘_ ﬂ"}”"

TEHRFR Accessories
FBSNO. SR Name
1 IR, Power cord
2 izl Coil components
3 1REJ4-M4 Screw 4-M4
4 oRITEE Acting valve core spring
5 B  componens
6 onlE O-rings
7 onE O-rings
8 RE Cover
9 BiEeE Since the spring cleaning
10 BRAH Diaphragm components
1M RUA Valve body
12 HKEH Inlet pipe pieces
13 HKEH Outlet fittings
A
inlet GHKO)D
N T4
VTR0
1. BPEITHSN, BiRE RSESY , IEERETRERES
HASTEIZ,

IS XCF-1180/DC 6V/ERIKNDPTH _FIX&AR,
IWHAISEMRSYI . DRIS. XCF-1180;,2884: DC6V;
QFF XA BERIOPIN; @5, TihFHKERAlR;
2. WBPERHKEK, B JuihF4s8e,

30 | XINGFENG

HMEZR~ B Size of installation

830

B

63

FEROERBE Stucture Diagram

DCRAKER PITHEKE SMZ;
Waterproof DC line Two core waterproof line SM line

Note

When ordering, please specify the specifications and quantity of the requi infra red product
according to the "model meaning".

Type: XCF - 1180/DC 6V/DC pulse type two—-core waterproof wire A.

The figure of this model is the following: type: XCF - 1180; Voltage:DC6V;

Switch type: dc pulse type; The type of line: type: two-core waterproof line A;

If the user has special request, please specify in detail when ordering.



O RRAY O DR O RGK \d M BEY A
[ LIAMRRERE (0 HKHR R kl‘ Iil

Model: XCF-J HMIZ R~ B Size of installation

230

?

Sk i = 7z i
ZERFBFR Accessories @R Stucture Diagram
FBSNO. 2R Name
1 BIRL, Power cord
2 SKBEH Coil components
3 1REJ4-M4 Screw 4-M4
4 RITEE Acting valve core spring
5 MEIDEE  componerts .
6 olE O-rings
7 OfE O-rings
8 RE Cover
9 BEeE Since the spring cleaning 6
10 BRAH Diaphragm components 7
11 RUA Valve body 8
12 HKEH Inlet pipe pieces 9
13 HKEH Outlet fittings 10
11
12
13
B
A ‘ ‘
inlet GEKDD DCRAXER [uayie54 SMZ&
Waterproof DC line Two core waterproof line SM line
N T4
VTR0 Note
1. BPEITHSN, BIRE RSESY , IEERIRERES When ordering, please specify the specifications and quantity of the requi infra red product
ST Z, according to the "model meaning'.
IS XCF-J/DC 6V/ERIFOPIN K &ATR Type: XCF — J/DC 6V/DC pulse type two—core waterproof wire A.
WHRISEMRSYITR. DRS. XCF-J;28FE: DC6V, The figure of this model is the following: type: XCF - J; Voltage:DC6V;
QR BRPI, @s|HLZER. IEBHKEAlmR; Switch type: dc pulse type; The type of line: type: two—core waterproof line A;
2. WERPERHKEK, B JuihF4E0e, If the user has special request, please specify in detail when ordering.

XINGFENG | 31



X l?l%Z® BE 2=\ PRKIPHER)/ INP—IR R PRI ZR S

Concealed small infra red pulse valve / small punch integrated pulse valve series

Model: XCF-K HMNIZ R~ B Size of installation

@185 /
I/

215

(€73

G% e

TERFZIR Accessories F= &2 ARE Stucture Diagram

% FBSNO. 2R Name

El 1 IR Power cord 1

T 2 IS aslas Coil components

% 3 IREJA-M4 Screw 4-M4 2

é 4 THIRIESEE Acting valve core spring 3
5 | WELEH  components
6 olE O-rings 4
7 OfE O-rings .
8 RE Cover
9 BiEeE Since the spring cleaning
10 (= apistlan Diaphragm components 6
1 REFTX  Flow regulatiang switch 8
12 Jub Az lEs Filtering component 7
13 R Valve body 9

10

Qo

Ao ,'

inlet (iﬁﬂ([’) DC%7J<Z£% Wfﬁf\%ﬂ(?ﬁ SM?/%
Waterproof DC line Two core waterproof line SM line

N T4

VTR Note

1. BPEITHN, BRE RSESY , IEERETRERES When ordering, please specify the specifications and quantity of the requi infra red product

AT Z, according to the "model meaning'.

IS XCF-K/DC 6V/ERARPT_IDBHKEAIR Type: XCF — K/DC 6V/DC pulse type two—core waterproof wire A.

WEISEMRSYITR. DRSS, XCF-K,28B&E: DCBV,; The figure of this model is the following: type: XCF - K; Voltage:DC6V;

QFFRIT,. BERoPT; @s|HELER . —BHKERAR; Switch type: dc pulse type; The type of line: type: two—core waterproof line A;

2. WERPERHKEK, B JuimF4hisis, If the user has special request, please specify in detail when ordering.

32 | XINGFENG



O RRAY O DR O RGK \d M BEY A
[ LISMRRERE (0 H KRR kl‘ Iil

Model: XCF-L SMEZRY B Size of installation
0228 %
&
2.G% 2;1,,
|
Ll
‘. 67 |
“ #
TERHRFR Accessories @R Stucture Diagram
ESNO. 2R Name
1 BIRL, Power cord
2 SKBEH Coil components
3 1B5Ja-M4 Screw 4-M4 :
4 THIRIESEEE Acting valve core spring g
5 MEIDEE  componers . :
6 olE O-rings
7 OflE O-rings
8 RE Cover
9 BEReE Since the spring cleaning
10 fBRAH Diaphragm components
11 RUA Valve body
12 HKEH Inlet pipe pieces
13 HKEH Outlet fittings
AN 12
13
A ‘ ‘
inlet GEKTD DCRI7KEL RITBAXE SME
Waterproof DC line Two core waterproof line SM line
N T4
VI EA0 Note
1. BPEITHN, BRE ASESY , IEERIRERES When ordering, please specify the specifications and quantity of the requi infra red product
ST Z, according to the "model meaning'.
IS XCF-L/DC 6V/ERAKDPT KA, Type: XCF — L/DC 6V/DC pulse type two—core waterproof wire A.
WEISEMRSYITR. DRIS. XCF-L; @8&: DCBY,; The figure of this model is the following: type: XCF - L; Voltage:DC6V;
QFFRAT. BRPI, @S| B4R, T IEBHKEAlmR; Switch type: dc pulse type; The type of line: type: two—core waterproof line A;
2. WBPERHKEK, BB 4s8s, If the user has special request, please specify in detail when ordering.

XINGFENG | 33



24Ul [|DUIS PoJDRIUOD)

XFBZ

BE3/INPRKIPHE/ AN — G BK PR 225

Concealed small infra red pulse valve / small punch integrated pulse valve series

Model: YTH-A180

TEMHERZFR Accessories
FBENO. 2R Name
1 EBBIR% Power cord
2 KEBRLE Coil components
3 IREJ4-M4 Screw 4-M4
4 SHRITEEE Acting valve core spring
5 DAL eenaonens” 0"
6 OfUE O-rings
7 OfUE O-rings
8 R= Cover
9 BiEeE Since the spring cleaning
10 BRAH Diaphragm components
11 REFTX  Flow regulatiang switch
12 pub Az les Filtering component
13 R Valve body
VTEA]
1. BPEITSN, BiRE RSSY , IHRTFRERRS
RIS,

HIS: YTH-A180/DC 6V/ERIFOPTN KA
IHRSERSWYITF. DRS. YTH-A180;,28F&: DC6V;
QBT BRIPI, @315, —InFHK&AlR;
2. WERPERHKEK, B JuihF4hisie,

34 | XINGFENG

Y2 R~ B Size of installation

315

G1/2
TN

ﬁ L

F=Ga D #EE Stucture Diagram

= |© |0 N[O

DCII7KER MK SMZg
Waterproof DC line Two core waterproof line SM line

Note

When ordering, please specify the specifications and quantity of the requi infra red product
according to the "model meaning".

Type: YTH — A180/DC 6V/DC pulse type two-core waterproof wire A.

The figure of this model is the following: type: YTH — A180; Voltage:DC6V;

Switch type: dc pulse type; The type of line: type: two-core waterproof line A;

If the user has special request, please specify in detail when ordering.



O RFEE O BEEE O BK 4 M I &
O WHEEE @ IR kl‘ Iil

Model: YTH-B180 HMIZR~ B Size of installation

WA

@
) &
147.5

o : [ ) .
ZERFBFR Accessories FEROERE Stucture Diagram
FESNO. 2R Name

1 IR, Power cord

2 ZBE Coil components

3 1RE]4-M4 Screw 4-M4

4 TR Acting valve core spring

5 | WEUAH  Componens.

6 OfvE O-rings

7 OfuE O-rings

8 RE Cover

9 BEeE Since the spring cleaning

10 (=) apistian Diaphragm components 1

1 mERTHx Flow regulatiang switch 12

12 PO ieA=yias Filtering component

13 [B3[%N Valve body

13
B
DCRA7KES RITBAX L SM£;
Waterproof DC line Two core waterproof line SM line

N T4
VTR0 Note
1. BFPEJRN, BiEiE eS|, TEEFRERIS When ordering, please specify the specifications and quantity of the requi infra red product
HUSFE, according to the "model meaning".
S YTH-B180/DC 6V/ERIFPT,_iLFHKLAIR. Type: YTH — B180/DC 6V/DC pulse type two—core waterproof wire A.
IWEISERSYUT: DES: YTH-B180;28/E: DC6V; The figure of this model is the following: type: YTH — B180; Voltage:DC6V;
QFFER: BERRPIN @SIHBEIE. TBRK&AlR Switch type: dc pulse type; The type of line: type: two—core waterproof line A;
2. WARPERHKREX, B JEimF4hiE8e, If the user has special request, please specify in detail when ordering.

XINGFENG | 35



Pajoaduo)

3
o
g
3

5
5
3
=

XIII%Z® B3 INPRRIPIR]/ NP —R BRI 72D

Concealed small infra red pulse valve / small punch integrated pulse valve series

Model: YTH-C HMNIZ R~ B Size of installation

KMD

65.5

ZEHBFR Accessories

FENO. | 2R Name
1 IR Power cord
2 £BEH Coil components
3 IREJ4-M4 Screw4—-M4
4 TIRITEE Acting valve core spring
5 DETEE  componenss - 0
6 OAYE O-rings
7 OflE O-rings
8 RE Cover i 5
9 BEeE Since the spring cleaning
10 BFAH Diaphragm components 3
11 TREWETF X Flow regulatiang switch 8
12 WIRELE Filtering component 9
13 RIA Valve body
14 HXEH Inlet pipe pieces 10
B
A o
inlet GGEZKO)D

- o 7

13mm 15mm 28mm 156mm 18mm DCRIKZ FRITBAIKER SM£R
Waterproof DC line Two core waterproof line SM line
T4k
VI 5Kl Note
1. BPEIJHY, BRE BSESY , IEEREIFRERRS When ordering, please specify the specifications and quantity of the requi infra red product
HUSFZ, according to the "model meaning'.
HS: YTH-C/DC 6V/ERIKPT _ibBRKEAlR Type: YTH — C /DC 6V/DC pulse type two—core waterproof wire A.
IWFRISERSYT: DRSS YTH-C ;28E: DC6VY; The figure of this model is the following: type: YTH — C; Voltage:DC6V;
QFFRAT,. BEREOPI, @SR . TIUBHKEAlR; Switch type: dc pulse type; The type of line: type: two—core waterproof line A;
2. WBRPERHEX, B JEihF4iE0e, If the user has special request, please specify in detail when ordering.

36 | XINGFENG



O RFEE O g O BK 4 M I &
O WHEEE @ IR kl‘ Iil

Model: YTH-D180 HMNIZ R~ B Size of installation

430

fﬂﬂﬂj

D

=
pi

50

TERH2FR Accessories FERDARE Stucture Diagram
FBSNO. | 2R Name
1 BIR% Power cord
2 SBEH Coil components
3 125 J4-M4 Screw4-M4
4 IIRITEES Acting valve core spring
5 | MU omponens o
6 oflE O-rings
7 ofE O-rings
8 R= Cover
9 BEEE Since the spring cleaning
10 BH A Diaphragm components
11 A2V TIFTA  Flow regulatiang switch
12 WIREHE Filtering component
13 (317N Valve body
14 KB Inlet pipe pieces

alal °

13mm 15mm 28mm inlet OGHXO) DCRAIKER Ay ¢54 SMZs
Waterproof DC line Two core waterproof line SM line

N T4
VTR Note
1. BPAJESNY, BiRE “BSsY | FHERFRERRS When ordering, please specify the specifications and quantity of the requi infra red product
HUSFI =, according to the "model meaning".
S YTH-D180/DC 6V/ERAK P KAl Type: YTH — D180/DC 6V/DC pulse type two—core waterproof wire A.
IWESERSYWT: OBIS. YTH-D180;28/E&: DC6V; The figure of this model is the following: type: YTH — D180; Voltage:DCBV;
QFXRT. BEREOPIN @S| B&ER . IDRHKERAIRG; Switch type: dc pulse type; The type of line: type: two—core waterproof line A;
2. WAPBERHREK, B JWiEmEs, If the user has special request, please specify in detail when ordering.

XINGFENG | 37



(360° L2l )
389 AL
£ AR I

MZRBtAYE (Ve (JAOSEE M AEGK  JKRIMR

@
=
)
@
=%
°
=
@
@
<
2
<
@
1]
&
B
»

FREREA Summary

Used in the automatic control system, infrared induction sanitary ware fluid,
switch control, internal use of two cavity pressure control, enhanced the
reliability of the valve and service life, reduces the maximum and minimum
pressure valve switch is needed for the pulse width, the unique impurities
self-cleaning function, make it has held in superior performance.The
automatic flushing function is achieved by adopting one in one.

38 | XINGFENG



b8 E — XA IR

Ceramic integrated pulse valve series

XFBZ

FARIERRSEL Technical Feature & Parameter

* {EF3I%08 Instruction

Rated voltage DC6V

Coil resistance

17Q+ 0.5Q (20 )

320mA
30-50ms

Min Current

Pulse width

Operating pressure

0 .02Mpa~0.8Mpa

Media temperature 1 ~75

Responding time

< 0.15s < 0.5s open< 0.15s close< 0.5s

y Mpa .
Working flow rate (for reference) X =15.58y + 1.15+ 0.5L
0.9
0.8 /
* ENSHENXR o —
Relation between pressure ' _
0.5 —e
and flow rate o __—
- —
/

0.3 //e/

02 e

0.1 r///a*//

0 I | | X L/min
0 5 10 15
(MPa) Pressure (MPa) 0.05 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8
(KG/min) Average flow rare(KG/min) 1.3 2.56 45 6.36 7.8 9.4 10.6 11.6 13.1
The strength test 1.6MPa Static pressure Withstand voltage pressure 1.2Mpa/5min
No-load test Voltage V*3.6( ),Pulse width 50ms( ) ( ) Permissiblelimiting voltage V*1.15

0.8Mpa DC4.5v 50ms,

High water pressure startup and closing

At water pressure 0.8Mpa.voltage DC4.5V,pulse width 50ms,the solenoid valve can be started closed normally

Low water pressure startup and closing

0.02Mpa

DC4.5V 50ms,

At water pressure 0.02Mpa.voltage DC4.5V,pulse width 50ms,the solenoid valve can be startde and closed normally

Leakage upon high water pressure

1.2Mpa

1.2Mpa zero leakage

Leakage upon low water pressure

0.02Mpa

< 0.1mL/min 0.02Mpa leakage < 0.1 mL/min

Electric strength

500v/50Hz,

0.75mA,1 min

Among the conductive part,mounting hole and nonconductive metal,it can withstand 500V/50Hz

leakage current

0.75mA for 1min without the breakdown

. ) 500V > 20MQ
Insulation resistance The resistance between the charged part and nonconductive metallic part tested by the megohmmeter of 500V= 20MQ
High pressure 1 MPa
Air
Low pressure 0.02MPa
High pressure 1.2MPa
Sealing test Static pressure Cold water
Low pressure 0 .02MPa
High pressure 0 .8MPa
Hot water
Low pressure 0 .02MPa
Service life = Min 1,000,000 cycles (CJ/T 194-2004) = 1,000,000 CJIT194-2004

* T{EMREZESK Requirements of working environment

Temp.of working 1 ~+60

environment

()
Permissible limiting pressure
(water pressure)

< 1.2Mpa

0/ ~ 0,
Humidity of working 35%~90% RH(

environment

)

35% ~90% RH(No condensation state)

Mounting direction

60
It is mounted in vertical direction
the inclination doesn’ t exceed 60 degrees

-5~+80 (

Storage temp -5~+80 (No fi

)

reezing state)

25%~95% RH(

Storage humidity

)
25%~95% RH(No condensation state)

XINGFENG | 39

je]
]
2
El
5
=
=
@
<Q
2
@
a
o
=
@
@
<
=
5
«
i)
5
7

3]
=
&
fo
Pt
1P
23]
A
Sl




\XFEZ M — AL BRI

Ceramic integrated pulse valve series

Model : TCF-A HMNIZ R~ B Size of installation

230

i

G1/2
TN

61.5

o)

TEEZFR Accessories F=Ga0 %@ Stucture Diagram

z
o

Name

Power cord

Coil components

4-M4 Screw 4-M4

Acting valve core spring

Movable valve core
components

(0] O-rings

Cover 5

Since the spring cleaning

© |00 (N | 0|~ w|N| P

Diaphragm components 6

O-rings l i

7
Flow regulating switch . /-' s

Valve body %
‘-- i 9
10

%q :

B

=
o
O

&
%
s
i
B
{

2]
2

=
=

sauas ane asind payelBajul olweIB)

)
=

=
N

inlet DC SM
Waterproof DC line Two core waterproof line SM line
VIERAD Note
1 “ " When ordering, please specify the specifications and quantity of the required product
according to the "model meaning".
: TCF-A/DC 6V/ A Type: TCF - A/DC 6V/DC pulse type two-core waterproof lineA.
: TCF-A; DC 6V, The figure of this model is the following: type: TCF - A; Voltage:DC6V,;
; A Switch type: dc pulse type; The type of line: type: two-core waterproof line A;
2 If the user has special request, please specify in detail whenordering.

40 | XINGFENG



O RRAY O DR O RGK \d M BEY A
‘T
O AIEIREL O TASRR kl Ve=

Model : TCF-B HMNIZR~ B Size of installation

#30

i

3
24

Skl : — 7 H
TEMFZHR Accessories Fraa D fEBE Stucture Diagram
NO. Name

1 Power cord

2 Coil components

3 4-M4 Screw 4-M4

4 Acting valve core spring

5 Movable valve core

components — "

6 o] O-rings I B% §

7 0] O-rings 5 = ;

8 Cover ﬁ!ﬁ& §

9 Since the spring cleaning 6 QEZE ’é

10 Diaphragm components ﬁ 7 |/1£| 5

11 Valve body “ 8 ;’fj 3

9
10
[ 11
A
B
inlet DC SM
N oy Waterproof DC line  Two core waterproof line SM line
VIR Note
1 “ " When ordering, please specify the specifications and quantity of the required product
according to the "model meaning".
: TCF-B/DC 6V/ A Type: TCF — B/DC 6V/DC pulse type two-core waterproof line A.
: TCF-B; DC 6V; The figure of this model is the following: type: TCF - B; Voltage:DC6V;
; A Switch type: dc pulse type; The type of line: type: two-core waterproof line A;

2 If the user has special request, please specify in detail whenordering.

XINGFENG | 41



\XFEZ M — AL BRI

Ceramic integrated pulse valve series

Model : TCF-C HMNIZ R~ B Size of installation

—

TEEZFR Accessories F=Ga0 %@ Stucture Diagram

z
o

Name

Power cord

Coil components
4-M4 Screw 4-M4

Acting valve core spring
Movable valve core

components
(0] O-rings

(0] O-rings

Cover

|| NGO &~ W[N] P

Since the spring cleaning

je]
©
)
El
S
=
=
@
=
e
@
aQ
°
=
@
@
<
=
<
@
73
“
=
7]

© |0 [N

12 Inlet pipe pieces

13 Water pipe fittings

10 Diaphragm components
11 Valve body

11

12

13

13mm 15mm

30mm 33mm inlet inlet

153740 Note

DC

Waterproof DC line

ZAE

Two core waterproof line

SM

SM line

1 “ M When ordering, please specify the specifications and quantity of the required product

according to the "model meaning".

- TCE-C/DC 6V/ A Type: TCF — C/DC 6V/DC pulse type two-core waterproof line A.
- TCF—C: DC 6V: The figure of this model is the following: type: TCF - C; Voltage: DC6V;

A - Switch type: dc pulse type; The type of line: type: two-core waterproof line A;

2 ' ' If the user has special request, please specify in detail when ordering.

42 | XINGFENG



OB ATE O BERE O R
(J LLAMAIEE. () K ERR

XFBZ

Model : TCF-D

ZEEBFR Accessories

z
o

Name

Power cord

Coil components

4-M4 Screw 4-M4

Acting valve core spring

Movable valve core
components

(¢] O-rings

O O-rings

Cover

|| N g b W|N|F

Since the spring cleaning

=
o

Diaphragm components

=
[N

Flow regulating switch

=
N

Inlet pipe pieces

[
w

Valve body

=
~

Water pipe fittings

SNFZR~F B Size of installation

B

30mm

TEIA

1 « "

: TCF-D/DC 6V/ A
: TCF-D, DC 6V,

DC SM

Waterproof DCline  Two core waterproof line SM line

33mm

Note

When ordering, please specify the specifications and quantity of the required product
according to the "model meaning".

Type: TCF — D/DC 6V/DC pulse type two-core waterproof line A.

The figure of this model is the following: type: TCF - D; Voltage: DC6V;

Switch type: dc pulse type; The type of line: type: two-core waterproof line A;

If the user has special request, please specify in detail when ordering.

XINGFENG | 43

=
%
1
e
B
I/ﬁ
2

salas aAjeA as|nd pajelBajul olwela)

o




\XFEZ M — AL BRI

Ceramic integrated pulse valve series

Model : TCF-E HMNIZ R~ B Size of installation

G1/2
TN

35

TEEZFR Accessories F=Ga0 %@ Stucture Diagram

z
o

Name

Power cord

Coil components
4-M4 Screw 4-M4

Acting valve core spring

Movable valve core
components

O O-rings

Flow regulating switch

0 N O g |~ | W N (P

Cover

Fliter the fnlot W Control
component

10 Since the spring cleaning

o
@
8
El
S
=
=
@
=
=4
@
=%
°
=
@
@®
<
=
<
@
17
T
=
»

11 Diaphragm components
12 O O-rings
13 Valve body

El E2 E3

VTR Note

When ordering, please specify the specifications and quantity of the required product
according to the "model meaning".

Type: TCF - E/DC 6V/DC pulse type two-core waterproof line A.

The figure of this model is the following: type: TCF - E; Voltage: DC6V;

Switch type: dc pulse type; The type of line: type: two-core waterproof line A;

If the user has special request, please specify in detail when ordering.

SM

Waterproof DC line  Two core waterproof line SM line

1

: TCF-E/DC 6V/ A
: TCF-E, DC 6V,

44 | XINGFENG



O &FEE O Bk O ARk \d M I &
‘B
O AMERER, (O AR kl vea-

Model : TCF-F HMNIZR~ B Size of installation

ki i = 7 i
TEMFZHR Accessories Fraa D fEBE Stucture Diagram
NO. Name
1 Power cord
2 Coil components
3 4-M4 Screw 4-M4
4 Acting valve core spring
5 Movable valve core
components S
6 o O-rings % -
7 Cover 5 = ;
o
8 Since the spring cleaning ﬁg ‘é
9 Diaphragm components 6 EEZE ‘%
10 O O-rings 7 fﬂ %
@
11 Valve body 8 Zgﬁ g
I3
9
10
11
A
inlet SM
Waterproof DC line  Two core waterproof line SM line
N T84
VIERAD Note
1 “ " When ordering, please specify the specifications and quantity of the required product
according to the "model meaning".
- TCF=F/DC 6V/ A Type: TCF - F/DC 6V/DC pulse type two-core waterproof line A.
- TCF—F DC 6V The figure of this model is the following: type: TCF - F; Voltage: DC6V;
. A Switch type: dc pulse type; The type of line: type: two—core waterproof line A;
2 If the user has special request, please specify in detail when ordering.

XINGFENG | 45



& — 1L BKIP I

Ceramic integrated pulse valve series

XFBZ

Model : TCF-G

Y2 R~ B Size of installation

]
&
s
fe
B
@
)
7
5

o
&
8
El
S
=
=
@
=
24
@
=%
°
=
@
@
<
£
<
@
1]
&
B
»

ZERHZFR Accessories

z
o

Name

Power cord

Coil components

Screw 4-M4

Acting valve core spring

Movable valve core
components

O-rings

Flow regulating switch

0 N O g |~ | W N (P

Cover

Fliter the fnlot W Control
component

10

Since the spring cleaning

11

Diaphragm components

12 (6]

O-rings

13

Valve body

inlet

ALl

1

: TCF-G/DC 6V/

46 | XINGFENG

A
: TCF-G, DC6V;

A

25

Note

When ordering, please specify the specifications and quantity of the required product
according to the "model meaning".

Ve

DC

Waterproof DC line

7

Two core waterproof line

Type: TCF -G/DC 6V/DC pulse type two-core waterproof line A.
The figure of this model is the following: type: TCF - G; Voltage: DC6V;

Switch type: dc pulse type; The type of line: type: two-core waterproof line A;

If the user has special request, please specify in detail when ordering.

SM

SM line



O RRAY O DR O RGK \d M BEY A
‘T
O IR O TSR kl Ve=

Model : TCF-H HMNIZR~ B Size of installation
QZZ.WME
Qyi : %‘

IR FR Accessories

NO. Name
1 Power cord
2 Coil components
3 4-M4 Screw 4-M4
4 Acting valve core spring
5 Movable valve core
components S
6 o O-rings b 2
=3
7 Cover 5 — 5
o
8 Since the spring cleaning }ﬁ ‘é
9 Diaphragm components 6 BEZE 2
@
10 O O-rings 7 fﬂ §
11 Valve body 8 i %
3 5
9
10
11
inlet SM
Waterproof DC line  Two core waterproof line SM line
N T4
VIERAAD Note
1 u " When ordering, please specify the specifications and quantity of the required product
according to the "model meaning".
- TCF=H/DC 6V/ A Type: TCF — H/DC 6V/DC pulse type two-core waterproof line A.
: TCF-H, DC 6V: The figure of this model is the following: type: TCF -H; Voltage: DC6V;
. N Switch type: dc pulse type; The type of line: type: two—core waterproof line A;
2 If the user has special request, please specify in detail when ordering.

XINGFENG | 47



(360° L2l )
B UL
£ NN IEHT

VZRBETE [ PiEIEeE (VMR (VAR J KEME

!

X
i
BX
o
&l
A
ol

—
L

(=]
)
)
a

o
=
@
@
<
=
<
)
)
]
=
)

<

LREfhR Summary

Used in the automatic control system, infrared induction sanitary ware fluid, switch control,
internal use of two cavity pressure control, enhanced the reliability of the valve and service life,
reduces the maximum and minimum pressure valve switch is needed for the pulse width, the
unique impurities self-cleaning function, make it has held in superior performance.The design
manual, automatic flushing function is adopted in the form of the first step ,which solves the
user' s concern and satisfise the personalized demand of the product.

48 | XINGFENG



KIDBRIDIE \XFEZ

Large red pulse valse series

B ARIEFRSE Technical Feature & Parameter
* #3156 Instruction

Rated voltage DC 6V

Coil resistance 17Q+ 0.5Q (20 )
Min Current 320mA
Pulse width 30-50ms

Operating pressure 0 .02Mpa~0.8Mpa

Media temperature 1 ~75

Responding time < 0.15s < 0.5s open< 0.15s close< 0.5s
y Mpa
Working flow rate (for reference) X =263.1y+29.3+ 1L
1
ay—1
* ENERENKR
: 0.8 °
Relation between pressure —
and flow rate 06 /
0.4 /
0.2
0 1 \.—( 1 1 1 1 1 1 1 1 1 X L/mln
0 50 100 150 200 250 300
(MPa) Pressure (MPa) 0.05 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8
(KG/min) Average flow rare(KG/min) 24 56.4 100.8 122.4 142.8 162 178.8 193.2 242
* MEBEIRTE Performance test
The strength test 1 .6MPa Static pressure Withstand voltage pressure 1.2Mpa/5min
No-load test Voltage V*3.6( Pulse width 50ms( ) () Permissible limiting voltage V*1.15
0.8Mpa DC4.5v 50ms -
High water pressure startup and closing At water pressure 0.8Mpa, voltage DC4.5V, pulse width 50ms,the solenoid valve can be started and closed normally 7(3
o
P35
0.02Mpa DC4.5v 50ms BXe
Low water pressure startup and closing At water pressure 0.02Mpa, voltage DC4.5V, pulse width 50ms,the solenoid valve can be started and closed normally ;qg s
N @
Leakage upon high water pressure | 1.2 Mpa 1.2Mpa zero leakage g §
N
Leakage upon low water pressure | 0.02Mpa < 0.1mL/min 0.02Mpa leakage < 0.1 mL/min 5| §
500v/50Hz 0.75mA 1 min G
Electric strength Among the conductive part,mounting hole and nonconductive metal,it can withstand 500V/50Hz leakage current
0.75mA for 1 min without the breakdown
. . 500V = 20MQ
Insulation resistance The resistance between the charged part and nonconductive metallic part tested by the megohmmeter of 500V= 20MQ
. High pressure 1 MPa
Air
Low pressure 0.02 MPa
Sealing test . High pressure 1.2 MPa
Static pressure Cold water
Low pressure 0.02 MPa
High pressure 0.8 MPa
Hot water
Low pressure 0.02 MPa
Service life > Min 1,000,000 cycles (CJ/T194-2004)= 1 000 000 CJ/T194-2004
* TEMEESK Requirements of working environment
Temp.of working environ mlent o=y Permissible limiting pressure (water pressure) S S
60

35% —90% RH(

Humidity of working environment | 35% -90% RH(No condensation state) | Mounting direction Itis mounted in vertical direction,

the inclination doesn't exceed 60 degrees

-5~+80 ( )

Storage temp -5~+80 (No freezing state) Water pressure 0.2Mpa
25%~ 95% RH(

Storage humidity 25%~ 95% RH(No condensation state)

XINGFENG | 49



XFEBZ SRIDRR I

Large red pulse valse series

Model: DCF-A HMNIZ R~ B Size of installation

N
‘ ]

|
B¢
Il

TERHZHR Accessories F-aa %A Stucture Diagram

NO. Name
1 Power cord
2 Coil components
3 4-M4 Screw4-M4
4 Acting valve core spring
Movable valve core
5 components
6 (0] O-rings
7 O O-rings
8 Cover
9 Since the spring cleaning
- .
75 2 10 Diaphragm components
P g 11 Control Valve body
3
5%?_’ 12 Flow regulating switch
I
&) g 13 Water pipe fittings
<
5”5 14 (e} O-rings
B 15 Main spring
16 Main valve core
17 Main body
SM
A Waterproof DCline  Two core waterproof line SM line
AP NoTe
1 " " When ordering, please specify the specifications and quantity of the required product
according to the "model meaning".
DCE-A/DC 6V/ A Model: DCF-A/DC 6V/DC pulse type two-core waterproof wire A.
DCF-A DC 6V This model has the following meaning: Voltage:DC 6V;
A Switch type: dc pulse type; The type of line: type: two-core waterproof line A;
2 If the user has special request, please specify in detail when ordering.

50 | XINGFENG



O ABETE (O BiEIERE
(J LLAMAIEE. () Tk ERR

O A

XFBZ

Model: DCF-B

i

—

ZEEBFR Accessories

SNFZR~F B Size of installation

G1/2 i\

| 275

N
=
65.5

S

110
34.5

B | 1

D o 2
36

FrE D #RE Stucture Diagram

NO. Name
1 Power cord
2 Coil components
3 4-M4 Screw4-M4
4 Manual button assembly
5 Acting valve core spring
6 (e} O-rings
’ T
8 (0] O-rings
9 (0] O-rings
10 Cover
11 Since the spring clean ing
12 Diaphragm components
13 Control valve body
14 Flow regulating switch
15 Main valve cover
16 [e] O-rings
17 Main spring
18 Main valve core
19 Main body

A/B-1 Gl" A/B-2

A/B-3
nner thread M39x1.5 M40x2
outer thread outer thread
NT4E/
VI ER7A0
1 f f
DCF-B/DC 6V/ A
DCF-B DC 6V
A
2

DC

Waterproof DC line

NoTe

SM

Two core waterproof line SM line

When ordering, please specify the specifications and quantity of the required product

according to the "model meaning".

Model: DCF-B/DC 6V/DC pulse type two-core waterproof wireA.

This model has the following meaning: the type: DCF-B;Voltage:DC6V;
Switch type: dc pulse type; The type of line: type: two-core waterproof line A;
If the user has special request, please specify in detail when ordering.

XINGFENG | 51

X
i
B
P
&l
A
el

salIas aAjeA asind pal abireT




XFEBZ SRIDRR I

Large red pulse valse series

Model: DCF-C HMNIZ R~ B Size of installation

g e

70

ZEEBFR Accessories

NO. Name 12
1 Power cord
2 Coil components
3 4-M4 Screw 4-M4
4 Acting valve core spring
5 Movable valve core
components
6 (¢] O-rings
7 O O-rings
8 Cover
9 Since the spring cleaning
qu 10 Diaphragm components
Jluas 11 Control Valve body
\, (=
%E 12 Flow regulating switch
/ %]
&) g 13 Main valve cover
<
A o 14 0 O-rings
Bl &
) 15 Main spring
16 Main valve core
17 Main body

A/B-1 Gl" A/B-2

A/B-3
nner thread M39x1.5 M40x2 DC SM
outer thread outer thread ) . )
N Waterproof DCline  Two core waterproof line SM line
VIERAD NoTe
1 " " When ordering, please specify the specifications and quantity of the required product
according to the "model meaning".
DCFE-C/DC 6V/ A Type: DCF-C/DC 6V/DC pulse type two-core waterproof wireA.
DCE-C DC 6V This model has the following meaning: the type: DCF-C;Voltage:DC6V;
A Switch type: dc pulse type; The type of line: type: two-core waterproof line A;
2 If the user has special request, please specify in detail when ordering.

52 | XINGFENG



D RFEE O g O BK 4 M I &
‘B2
O aHEEE @ IR kl 7 £

Model: DCF-D HMNIZR~ B Size of installation

TERHZHR Accessories 7= oaDf#E Stucture Diagram

NO. Name
1 Power cord
2 Coil components
3 4-M4 Screw 4-M4
4 Acting valve core spring
: N e e
6 o O-rings
7 O O-rings
8 Cover
9 Since the spring cleaning
10 Diaphragm components qu
11 Flow regulating switch }EP <
12 Main valve cover E%‘;
13 (¢] O-rings f&] g
14 Main spring /‘;flj 2
15 Main valve core o
16 Flow regulating switch
17 Main body

A/B-1 Gl" A/B-2 A/B-3

nner thread M39x1.5 M40x2 DC SM
outer thread outer thread ) ) )
Ny Waterproof DCline  Two core waterproof line SM line
VIERAD NoTe
1 " " When ordering, please specify the specifications and quantity of the required product
according to the "model meaning".
DCFE-D/DC 6V/ A Type: DCF-D/DC 6V/DC pulse type two-core waterproof wireA.
DCE-D DC 6V This model has the following meaning: the type: DCF-D;Voltage:DC6V;
A Switch type: dc pulse type; The type of line: type: two-core waterproof line A;
2 If the user has special request, please specify in detail when ordering.

XINGFENG | 53



XFEBZ SRIDRR I

Large red pulse valse series

Model: DCF-E HMNIZ R~ B Size of installation

—wamm . S N
jW%@

il

Sk i = 7 i
TEMFZ IR Accessories Fraa D fEBE Stucture Diagram
NO. Name
1 Power cord
2 Coil components
3 4-M4 Screw 4-M4
4 Acting valve core spring
5 Movable valve core
components
6 O O-rings
7 (e} O-rings
8 Cover
9 Since the spring cleaning
& 10 Diaphragm components
Re
jlua s 11 Control Valve body
\, Q
%g 12 Flow regulating switch
/ n
&) g 13 Main valve cover
A f 14 Main spring
5l &
2 15 Main diaphragm assembly
y Mpa Working flow rate (for reference) X =188.6y+36.4+ 1L
DC SM 6
) ’ ’ 0. o
Waterproof DC line Two core waterproof line SM line
0.6 //./'
* ENSHEXA Y .
Relation between pressure 02 -
. e
and flow rate 0 — [ X Limin
0 50 100 150 200
(MPa) Pressure (MPa) 0.05 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8
(KG/min) Average flow rare(KG/min) 30 55.2 84 103.2 118.8 132.5 147 162 175.2
Ne =7
VTERRA NoTe
1 " " When ordering, please specify the specifications and quantity of the required product
according to the "model meaning".
DCF-E/DC 6V/ A Type: DCF-E/DC 6V/DC pulse type two-core waterproof wireA.
DCE-E DC 6V This model has the following meaning: the type: DCF-E;Voltage:DC6V;
A Switch type: dc pulse type; The type of line: type: two-core waterproof line A;
2 If the user has special request, please specify in detail when ordering.

54 | XINGFENG



U2 HE O bkt O AaK \d W B ®
O OAMERR, (O AR k I4 I'l
Model: DCF-F HMNIZR~ B Size of installation

fﬂlﬂj 0

2-M39*1.5

TERHZHR Accessories 7= oaDf#E Stucture Diagram

NO. Name
1 Power cord 1
2 Coil components
3 4-M4 Screw 4-M4 2
4 Acting valve core spring
5 Movable valve core 3
components
6 (0] O-rings
7 (0] O-rings
8 Cover E
9 Since the spring cleaning
10 Diaphragm components b
Re
11 Control Valve body sl
3
12 Flow regulating switch % FX=
A gulating - p P 3
13 Main valve cover 8 5
= 2
14 Main sprin N
e 314
15 Main diaphragm assembly 2
> 5
A
DC SM
Waterproof DC line Two core waterproof line SM line
N T4
VIR NoTe
1 " " When ordering, please specify the specifications and quantity of the required product
according to the "model meaning".
DCF-F/DC 6V/ A Type: DCF-F/DC 6V/DC pulse type two-core waterproof wireA.
DCE-F DC 6V This model has the following meaning: the type: DCF-F;Voltage:DC6V;
A Switch type: dc pulse type; The type of line: type: two-core waterproof line A;
2 If the user has special request, please specify in detail when ordering.

XINGFENG | 55



XFEBZ KPR

Large red pulse valse series

Model: DCF-G HMNIZR~ B Size of installation

2-M39*1.5 TT TT
—

140

Sk i = 7 i
TEMHZHR Accessories Fraa D fZBE Stucture Diagram
NO. Name
1 Power cord
2 Coil components
3 4-M4 Screw 4-M4
4 Acting valve core spring
5 Movable valve core
components
6 O O-rings
7 (e} O-rings
8 Cover
9 Since the spring cleaning
7(05 10 Diaphragm components
o 11 Control Valve body
>Q
5%3 12 Flow regulating switch
/ %]
3] g 13 Main valve cover
fzré i 14 Main spring
5l &
2 15 Main diaphragm assembly
DC SM
N Waterproof DCline  Two core waterproof line SM line
VIR NoTe
1 " " When ordering, please specify the specifications and quantity of the required product
according to the "model meaning".
DCF-G/DC 6V/ A Type: DCF-G/DC 6V/DC pulse type two-core waterproof wireA.
DCF-G DC 6V This model has the following meaning: the type: DCF-G;Voltage:DC6V;
A Switch type: dc pulse type; The type of line: type: two-core waterproof line A;
2 If the user has special request, please specify in detail when ordering.

56 | XINGFENG



O RRAH O D © AR

XFBZ
© AN (O AR ‘ i

Model: DCF-H

YNz R~ BSize of installation

34

x
<

il
0“

4
<

%

XX
Sodatod
NN =5 ~=
SNFEI T
salIas aAjeA asind pal abireT

o
3
5
35S
25
XXX
K
%%

%
%

<

oo}

5

35

RRRRX
0o

&

%

’
oS
o9
%098
o998
¢ :0’0,:0
55
%90
29098
%%

I'Q’
&
£
X
R
<X
RS
RRXS
R
o30900%S
o
KRS

%
So%e%

IS
&

RRRKS
%

‘ FBA (max) 126mm
&0\ (min) 112mm

250

N T4
VIR NoTe

1 " " When ordering, please specify the specifications and quantity of the required product

according to the "model meaning".
DCE-H/DC 6V/ A Model: DCF-H/DC 6V/DC pulse type two-core waterproof wireA.
DCF-H DC 6V This model has the following meaning: the type: DCF-H;Voltage:DC6V;
A Switch type: dc pulse type; The type of line: type: two-core waterproof line A;
2 If the user has special request, please specify in detail when ordering.

XINGFENG | 57



N e D
INFFIZH
salas aAjeA as|nd pal abieT

XFBZ

NIPEKIPHE]

Large red pulse valse series

Model: DCF-HS

SN2 R~ BSize of installation

VT EAD
1

DCF-H/DC 6V/

58 | XINGFENG

DCF-H

DC 6V

A (max) 133mm

BV (min) 112mm

NoTe

When ordering, please specify the specifications and quantity of the required product
according to the "model meaning".

Model: DCF-H/DC 6V/DC pulse type two-core waterproof wireA.

This model has the following meaning: the type: DCF-H;Voltage:DC6V;

Switch type: dc pulse type; The type of line: type: two-core waterproof line A;

If the user has special request, please specify in detail when ordering.

222

70




\ - ®
o \FI:Z
Coil series A va:s

Model: XQ-18 SN2 R BSize of installation

g - ; @185

24
—— —
QRIS
,
N
-
;‘:’V
©21.5

Model: XQ-20A HNIZ R~ BSize of installation

25

18
24
31

225

3156

55

Model: XQ-208B Y2 R < BSize of installation
Ot i

LI

—
4 m
20
255
27
\
55

= _

y Mpa Working flow rate (for reference) X =3.97y + 4.94+ 0.5L
* ENERENKR 1
Relation between pressure 08 Lo

and flow rate 0.6 //

0.4 —e
0.2 /
0 Lo —1 % | | | x L/min
0 10 20 30 40
(MPa) Pressure (MPa) 0.05 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8
(KG/min) Average flow rare(KG/min) 3.2 8.8 145 18.2 21.6 24 26.8 28.3 30.6

XINGFENG | 59



FH

>
o
o
®
n
0
o
=k
@
n

XFBZ

=i

Coil series

Model: XQ-21

g

Model: XQ-26

Model: XQ-30

60 | XINGFENG

Y2 R~ BSize of installation

2

&

HNEZR < BSize of installation

|15 325
|0

HNEZ R~ BSize of installation

Sa—as
27

{%
N0
25.8
34




| _ S/ ®
mrE X7
Large red pulse valse series A V-

Model: CK-A Y2 R BSize of installation

Model: CK-B Y2 R B Size of installation
026.1 032
:‘ LT 13 7
~48
\{Q L
Model: CK-C Y2 R BSize of installation

30.2

XINGFENG | 61



	兴丰样本202301网版
	兴丰样本202302网版
	兴丰样本202303
	兴丰样本202304网版

